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Question Id : 9380662265 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

The following table shows the percentage (%) of girls who passed in an examination and the
percentage (%) of boys who failed in that exam in a school during the six years from 2018 to
2023. Based on the data in the table, answer the questions that follow.

Year-wise Result details of Students

Year Percentage of | Percentage of
Girls who Boys who
passed failed

2018 32% 40%

2019 42% 60%

2020 55% 25%

2021 40% 30%

2022 60% 50%

2023 42% 80%

Sub questions

Question Number : 1 Question Id : 9380662266 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following years did the performance of girls show maximum improvement as
compared to the previous year?

1.2019
2.2020
3.2022
4.2023

Options :

9380668801. 1
9380668802. 2
9380668803. 3
9380668804. 4

Question Number : 2 Question Id : 9380662267 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If in the year 2018, the total number of boys who appeared in the exam 1s 600, then what is the
percentage difference between the percentage of boys who passed and the percentage of girls who
passed 1n the exam?

1. 18%
2.23%
3.25%
4, 28%
Options :
9380668805. 1
9380668806. 2
9380668807. 3



9380668808. 4

Question Number : 3 Question Id : 9380662268 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If in the year 2020, the total number of boys and the total number of girls who appeared in the
exam are 800 and 700 respectively, then what 1s the ratio of the total number of boys who passed
to the total number of girls who failed?

1.40: 21
2.154:201
3.18:11
4.7:10
Options :
9380668809. 1
9380668810. 2
9380668811. 3
9380668812. 4

Question Number : 4 Question Id : 9380662269 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If in the year 2019, the total number of boys and the total number of girls who appeared in the
exam are 800 each, then what is the sum of the total number of boys and girls who passed in that
year?

l. 650
2. 656
3.662
4. 668
Options :
9380668813. 1
9380668814. 2
9380668815. 3
9380668816. 4

tn Lh

Question Number : 5 Question Id : 9380662270 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If in the year 2023, the total number of boys and the total number of girls who appeared in the
exam are 1250 and 850 respectively, then the number of boys who failed is approximately
% more than the number of girls who failed in the exam.

1. 42.67
2. 81.53
3.89.77
4.102.84
Options :
9380668817. 1
9380668818. 2
9380668819. 3



9380668820. 4



Question Id : 9380662265 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

9 difcidhT # 9y 2018 U 2023 ddb & &g dui H U [d=1ad H Udie 3ol d- arell
TfcTeb134l T Uid=Id (%) 9 GRT&M § S0l dTcidh | 1 Ul=Id (%) GRIdm 741 g | difcid! §
UG 3ol & YR W, 3F Y 7T U & IR aliolu:

foenat & adien e &1 a¥arR fdazu

It ST
CL aifeprefi &1 | qa®i oT
PIGEIG PIGEIG
2018 32% 40%
2019 42% 60%
2020 55% 25%
2021 40% 30%
2022 60% 50%
2023 42% 80%

Sub questions

Question Number : 1 Question Id : 9380662266 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 1 ¥ o9 av o sifaarsfl & R J 7d oy &1 go- § Faiide JuR fadrs odl g2

1.2019
2. 2020
3.2022
4. 2023
Options :
9380668801. 1
9380668802. 2
9380668803. 3
9380668804. 4

Question Number : 2 Question Id : 9380662267 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e gy 2018 H UR1& & UFT o dcl STeidh| &1 Had TWAT 600 8, ol GRIE | Sl Il &
gfr=rd 3R gdien 9 Sl aifcrdradl & ufaeid & ol o1 ufd=id sidr &1 g2

1. 18%
2.23%
3.25%
4. 28%
Options :
9380668805. 1
9380668806. 2
9380668807. 3
9380668808. 4




Question Number : 3 Question Id : 9380662268 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gie qy 2020 H, Gef H UFT o+ dTdl STeidhl d Sifcidrail B dol T HH: 300 700 B, Al
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1.40: 21
2.154:201
3.18:11
4.7:10

Options :

9380668809. 1
9380668810. 2
9380668811. 3
9380668812. 4

Question Number : 4 Question Id : 9380662269 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gie qy 2019 H, GHe & UFT - dTdl STeidh| B ol ST 800 § d difeih 31 &l ot Hem of
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1. 650
2. 656
3. 662
4. 668
Options :
9380668813.
9380668814.
9380668815.
9380668816.

AW N =

Question Number : 5 Question Id : 9380662270 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : (

gie qy 2023 H, Giel & YN o d1d STeid| 9 STfddbiail S S S U 1250 9850 8, dl
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AP B

1.42.67
28133
3. 80T
4.102.84

Options :

9380668817. 1
9380668818. 2
9380668819. 3



9380668820. 4

Sub-Section Number : 2
Sub-Section Id : 93806698
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 9380662271 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The term Andragogy refers to .

1. Childhood Learning theory
2. Adolescence Learning theory
3. Adult Learning theory
4. Self-directed Learning theory
Options :
9380668821. 1
9380668822. 2
9380668823. 3
9380668824. 4

Question Number : 6 Question Id : 9380662271 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
9380668821. 1
9380668822. 2
9380668823. 3
9380668824. 4

Question Number : 7 Question Id : 9380662272 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1s the assessment which may also be seen as informal.

1. Summative Assessment
2. Formative Assessment
3. Subject reviews Assessment
4. Observation Assessment
Options :
9380668825. 1
9380668826. 2
9380668827. 3
9380668828. 4



Question Number : 7 Question Id : 9380662272 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
9380668825. 1
9380668826. 2
9380668827. 3
9380668828. 4

Question Number : 8 Question Id : 9380662273 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Rearrange the sequence to write a lesson plan

A. Lesson opening
B. Preplanning

C. Lesson Layout

D. Closure of Lesson
E. Extended practice

Choose the correct answer from the options given below:

D,C,AE, B
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4. B,
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Options :

9380668829. 1
9380668830. 2
9380668831. 3
9380668832. 4



Question Number : 8 Question Id : 9380662273 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

9380668829. 1
9380668830. 2
9380668831. 3
9380668832. 4

Question Number : 9 Question Id : 9380662274 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When a teacher uses Lecture Method, then

A. Tt provides new information to the students.

B. It provides original research to the students which are generally not found in text books.
C. It can dramatize important concepts and share personal insights.

D. It is less effective method for promoting thought and changing students attitudes.

E. It deals with critical analysis and problem solving.

Choose the correct answer from the options given below:

1. A, B and C Only
2.B, C and E Only
3.A,B, CandE Only
4. A, D and E Only

Options :

9380668833. 1

9380668834. 2

9380668835. 3

9380668836. 4



Question Number : 9 Question Id : 9380662274 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

9380668833. 1
9380668834. 2
9380668835. 3
9380668836. 4




Question Number : 10 Question Id : 9380662275 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I
(Types of knowledge)

LIST-II
(Assessment Literacy)

An educator assesses student learning

A.|The purpose of assessment L. :
purp and content specific knowledge
Educators' intention with assessment
B.| What to assess 1L
data
. relates to the educator's purpose with the
C.| Assessment strategles III. PUIp
assessment
associated with the purpose of
D.|Interpretation and Action-taking I'V.| assessment and deep rooted in the values

and principles

Choose the correct answer from the options given below:

1. A-IIT, B-1IV, C-I, D-II
2. A-1, B-1I, C-IV, D-III
3. A1l B-I, C-III, D-IV
4. A-1V, B-1I, C-1, D-III

Options :

9380668837. 1
9380668838. 2
9380668839. 3
9380668840. 4




Question Number : 10 Question Id : 9380662275 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IIL, B-1V, C-1, D-II
2. A-1, B-1I, C-1IV, D-III
3. A-IL, B-1, C-I11, D-1IV
4. A-1IV, B-11, C-1, D-III

Options :

9380668837. 1

9380668838. 2

9380668839. 3

9380668840. 4

Question Number : 11 Question Id : 9380662276 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a step in Scientific Research?

1. This is an ending aspect of science, with the process constantly being not repeated with

decreasing refinement
2. Casual observation of event/ phenomenon
3. Wonder/ curiosity about how, why, what etc.

4. Hypothesis (about relationship between two variables).

Options :

9380668841. 1
9380668842. 2
9380668843. 3
9380668844. 4




Question Number : 11 Question Id : 9380662276 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

9380668841. 1
9380668842. 2
9380668843. 3
9380668844. 4

Question Number : 12 Question Id : 9380662277 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘What is Normative Research?

1. Normative research proceeds from evidence to conclusion.

2. Normative research raises the issue in such a way that the conclusion is implied.

3. Normative research inquiry draws conclusion.

4. Normative research method of inquiry consists of posing a question or raising an issue,
collecting evidence and drawing conclusion from evidence.

Options :

9380668845. 1
9380668846. 2
9380668847. 3
9380668848. 4

Question Number : 12 Question Id : 9380662277 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
93PSO668845.1
9380668846. 2
9380668847. 3
9380668848. 4



Question Number : 13 Question Id : 9380662278 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Mean (M) and Standard Deviation (S) of different datasets are given in A-D below. Compute the
coefficient of variation of each dataset and arrange in ascending order.

A . M=60,S=14
BM=70,5=16
C.M=80.5=5
D.M=90,S=4

Choose the correct answer from the options given below:

9380668849. 1
9380668850. 2
9380668851. 3
9380668852. 4

Question Number : 13 Question Id : 9380662278 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i STerel & 114 (M) 3R TS [9da (s) A1d A-D H U U 81 Udd STerde 8q
fd=RU & Ui Bl TUMH] BT 3R ARIGH hH H HdfRd HIfT:

A M=60,5S=14
B.M=70,5=16
C.M=80,5=35
D.M=90,S=4

1< fau v fadedt @ € Tl ST I

oNPU
NP op

-

WO ®EN
> o

-

I Lad D

Options :
9380668849. 1
9380668850. 2
9380668851. 3
9380668852. 4



Question Number : 14 Question Id : 9380662279 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the stages which may form part of a Research Proposal outline.

A. Data Fabrication

B. Methodology

C. Review of related literature or earlier studies
D. Specifying objectives

E. Stating Problem

Choose the correct answer from the options given below:

1. B, C, D and E Only
2. A Only
3.A,B,Cand D Only
4. A, C,D and E Only

Options :

9380668853. 1

9380668854. 2

9380668855. 3

9380668856. 4

Question Number : 14 Question Id : 9380662279 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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2. Had A Only
3. HId A, B, C 3R D
4. HAA A, C.D3IRE
Options :
9380668853. 1
9380668854. 2
9380668855. 3
9380668856. 4



Question Number : 15 Question Id : 9380662280 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-II
(Books Title) (Authors)

Research Methodology: A step-by-step

=5 guide for beginners L |Ramsxoga

B.|Mass Media Research: An Introduction | II. |H.K. Dangi/ Shruti Dewen
C.|Business Research Methods I11. | Ranjit Kumar

D.|Research Methods IV.|Roger D. Wimmer/ Joseph R. Dominick

Choose the correct answer from the options given below:

1. A-IIT, B-1IV, C-1I, D-I
2. A-1, B-1I, C-1I1, D-IV
3. A-IV, B-1II, C-II, D-1
4. A-11, B-III, C-IV, D-1

Options :

9380668857. 1
9380668858. 2
9380668859. 3
9380668860. 4



Question Number : 15 Question Id : 9380662280 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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B. | A1y Hifgan Rud : t4 seisa®A IL. | Ud. &. STl 4fd &a-

c. | faforg Rad Aygy 1L | 3olld $HAR

D.|Rud Aygy IV. [IR 3. fqa Sivw 3R, Siftfs
- feu 77 fdsbedl # E Hel STk &1 994 DI .

1. A-IIT, B-1V, C-II, D-I
2. A-1, B-11, C-II1, D-IV
3. A-IV, B-111, C-II, D-I
4. A-I1, B-1I1, C-IV, D-1

Options :

9380668857. 1

9380668858. 2

9380668859. 3

9380668860. 4

Question Number : 16 Question Id : 9380662281 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If there is fault in the mechanical or electrical channel, the free flow of communication will be
obstructed. This obstruction is taking place at what level?

1. At the transmission level
2. At the encoder level

3. At the decoder level

4, At the feedback level

Options :

9380668861. 1
9380668862. 2
9380668863. 3
9380668864. 4



Question Number : 16 Question Id : 9380662281 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gfe fhdl gifid srydr fagydiy gregd O oIS &Iy g, dl §dR &l Ydd Ydig d1f9d gl dg
a1 9 1 9 T TR WR 81 381 gidl 82

. GO TR WX
2. Hhdd IR TR
3. faddhdd TR W

4. AP TR W
Options :
9380668861. 1
9380668862. 2
9380668863. 3
9380668864. 4

Question Number : 17 Question Id : 9380662282 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The teacher is teaching in a class of students. This can be the best example of

1. Face to face communication
2. Mass communication
3. Inter-Cultural communication
4. Group Communication
Options :
9380668865. 1
9380668866. 2
9380668867. 3
9380668868. 4

Question Number : 17 Question Id : 9380662282 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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2. 5 HdR
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Options :

9380668865. 1
9380668866. 2
9380668867. 3
9380668868. 4



Question Number : 18 Question Id : 9380662283 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per the book *The Five Cs of Cinematography’ by Joseph V. Mascelli, arrange the following
Cs in order of chapters given in the book (Starting from chapter 1 to chapter 5)

A. Camera Angles
B. Composition
C. Close-Ups

D. Cutting

E. Continuity

Choose the correct answer from the options given below:

1.LAE.D.C.B

2LARBCDE

3.B,CAED

4.C,A.B,D,E
Options :

9380668869. 1
9380668870. 2
9380668871. 3
9380668872. 4

Question Number : 18 Question Id : 9380662283 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

9380668869. 1
9380668870. 2
9380668871. 3
9380668872. 4



Question Number : 19 Question Id : 9380662284 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What among the following are functions of the Mass Media?

A. Infrastructure- Building
B. Entertainment

C. Information

D. Tax- Collection

E. Advertising

Choose the correct answer from the options given below:

1. Aand D Only
2. A, B and C Only
3.B, C and E Only
4. B, D and E Only
Options :
9380668873. 1
9380668874. 2
9380668875. 3
9380668876. 4

Question Number : 19 Question Id : 9380662284 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. Hdd A AR D
2. HAd A, B3R C
3. $dd B, C 3ARE
4. Had B, D 3RE
Options :
9380668873. 1
9380668874. 2
9380668875. 3
9380668876. 4



Question Number : 20 Question Id : 9380662285 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-I1
(Directors) (Films)
A.|Orsen Welles I. |Stage Coach
B.|John Ford II. | City Lights
C.|Charlie Chaplin II1. [ Rear Window
D. [ Alfred Hitchcock IV.|Citizen Kane

Choose the correct answer from the options given below:

1. A-I, B-11, C-III, D-IV
2. A-IV, B-1, C-11, D-III
3. A-IV, B-1II, C-II, D-1
4. A-IIT, B-I1, C-1, D-IV

Options :

9380668877. 1

9380668878. 2

9380668879. 3

9380668880. 4

Question Number : 20 Question Id : 9380662285 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

= 5
AT I L (X9 SE
B.|SH Bls I1. |fqd digeq
c.|ardf Aftem 111 | R fadsT
D.|tdhs fgaadh Iv. | Ryfes &4
T ST 1T fdd el § U Ugl 3wk &1 94+ Difol -

1. A-1, B-II, C-IIL, D-IV
2. A-1V, B-1, C-11, D-III
3.A- IV, B-1II0, C-I1, D-1
4. A-II1, B-11, C-1, D-IV

Options :

9380668877. 1

9380668878. 2

9380668879. 3

9380668880. 4



Question Number : 21 Question Id : 9380662286 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below:
3,8,15,24,35,48,7

1. 62
2.65
3.63
4.73

Options :

9380668881. 1
9380668882. 2
9380668883. 3
9380668884. 4

Question Number : 21 Question Id : 9380662286 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3 Rl BT Udl U Sif (9 Saet O Uy fag (2) &I 9idd1iud & 9 |

3,8,15,24,35,48,?

1. 62
2.65
3.63
4.73

Options :

9380668881. 1
9380668882. 2
9380668883. 3
9380668884. 4

Question Number : 22 Question Id : 9380662287 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language:

“WHERE' is coded as: 3, 18, 5, 8, 23
‘DELHI’ is coded as: 9, 8, 12, 5, 4

How ‘HORSE"’ is coded in that language?

1.5 18,5 8. 20

2519 18 15 B

3.3 I1B: 198 15

4.0, 19 18,8 1
Options :

9380668885. 1
9380668886. 2
9380668887. 3
9380668888. 4



Question Number : 22 Question Id : 9380662287 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
DHIdUg He UNT I-
“WHERE’ @I 5, 18, 5, 8, 23 & U H dcdg [haI T g |
‘DELHI'®1 9, 8, 12, 5,4 b U peds [hal T B
JUYad UNT T ‘HORSE &l dds (bl SITUT:

Options :

9380668885. 1
9380668886. 2
9380668887. 3
9380668888. 4

Question Number : 23 Question Id : 9380662288 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Mohan can do a piece of work in 7 days working 9 hours a day and Shyam can do the same work
in 6 days working 7 hours a day. How long will they take to complete the job working together

and 8 % hours a day?

1. 3 days
2. 4 days

g |
3. 3 days
4. 5 days

Options :

9380668889. 1
9380668890. 2
9380668891. 3
9380668892. 4



Question Number : 23 Question Id : 9380662288 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hig- U Hd Bl 9 b Ufdfdd 1 drd gU 7 e 1 i g 8k Wi 34l &1d &l 74
Hﬁfﬁﬁwaﬁéﬁ?ﬁw?ﬂa@:ﬁqﬁﬁﬁgéﬂ%ﬂﬁﬁwmﬁﬁﬁﬁwﬁ@

PP

1.3f¢d
2.4feA
3,?&1%3

4. 5fea

Options :

9380668889. 1
9380668890. 2
9380668891. 3
9380668892. 4

Question Number : 24 Question Id : 9380662289 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LIST-I LIST-II
(Question) (Answer)
I
A |If, x-}-l:Z,Then(x—— =7 E (&l
X X
If, x— y=1and x* +* =41 then
B. X+y=2 II. |2
1 1 .
C.|If |1-—|=2,thenl+—=7 III. |0
X ) x°
: I ) l r
D.|If ,\‘——J:3then,1"+ —=7 IV.|=9
x X

Choose the correct answer from the options given below:

1. A-I, B-III, C-IV, D-1I
2. A-1, B-1I, C-1II, D-IV
3. AL B-1II, C-1, D-IV
4. A-III, B-IV, C-I1, D-1

Options :

9380668893. 1

9380668894. 2

9380668895. 3

9380668896. 4



Question Number : 24 Question Id : 9380662289 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

a1 I
%) @W)
|
A. uﬁ[x+l:2?ﬁ[.\:-—j:? I |11
X X
B uﬁ,'f—).*=l3ﬁ?x3+_1-'j=4l<_‘h o |
lx+y=1 '
A
c.|afq (l—l —2dl 14t =0 111 |0
- x) X
— —
D. ﬂﬁ*[;———}::ﬁﬁ X} 4—=7 V. |9
s x“
1 QU U fadedl H T gt Ik &1 994 HIfvU :

1. A-I, B-III, C-IV, D-II
2. A-1, B-11, C-IIL, D-1IV
3. AL B-III, C-1, D-IV
4, A-II1, B-1V, C-I1, D-1

Options :

9380668893. 1

9380668894. 2

9380668895. 3

9380668896. 4

Question Number : 25 Question Id : 9380662290 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A sum of money lent at compound interest for 2 years at 20% per annum would fetch T 482 more
if the interest was payable half yearly than if it was payable annually. Find the sum of money
lent.

1.% 15,000
2.3 13,000
3.2 18,000
4.% 20,000
Options :
9380668897. 1
9380668898. 2
9380668899. 3
9380668900. 4



Question Number : 25 Question Id : 9380662290 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fop el &I WR 2 a¥ o 1w ufdas 209 dehdfs s IR SR AU U 84 WR 7 482 3{f¥UdH
A g, aie &1l a1t 0 U ¢4 & Solid o419 3fgdiiNd 9 9 ¢d gl dl SYR gl 5
UENIBEIRIGGHIE

1.% 15,000
2.2 13,000
3.3 18,000
4.3 20,000

Options :

9380668897. 1
9380668898. 2
9380668899. 3
9380668900. 4

Question Number : 26 Question Id : 9380662291 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which fallacy is committed in the following statement - “God exists since it 1s written in the
scriptures. Since the scriptures are the words of God, whatever is written in them is true.”?

1. Hasty Generalization
2. Begging the Question
3. Red herring

4. Slippery slope

Options :

9380668901. 1
9380668902. 2
9380668903. 3
9380668904. 4



Question Number : 26 Question Id : 9380662291 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fgfefad § S1-a1 0d a fagdH -
"SR BT I § FNTS U oyl H forar o 1 Jfd ey SR &1 At 8, 3ufere 39
Sl $ ol § 98 9 82

1. fATRd GErdih o
2. YT G
3. YHAS Hdd

4. T Oe1gad eaH

Options :

9380668901. 1
9380668902. 2
9380668903. 3
9380668904. 4

Question Number : 27 Question Id : 9380662292 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. All poems are artworks.

B. No non-poems are non-artworks.
C. Some poems are artworks.

D. All non-artworks are non-poems.

Choose the correct answer from the options given below:

1. A, C and D Only
2. Aand B Only
3. Cand D Only
4. A and D Only

Options :

9380668905. 1
9380668906. 2
9380668907. 3
9380668908. 4



Question Number : 27 Question Id : 9380662292 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fAaferfad § O oH-a1 oyF aifde =P S gaF g2

A. Gl SIdard dardiadi gidl 3|

B. s W TR-Pfadr, IR-belidpfa =g gidl o
C. $F AT ST gIdl G|

D. g4l IR- s iaal, IR-HIdd gidl g

fid feu g fasbedl # 1 91 Sk I

1. $dd A, C 3R D
2. Had A 3R B
3. %Hdd C AR D
4. Hdd A3RD

Options :

9380668905. 1
9380668906. 2
9380668907. 3
9380668908. 4

Question Number : 28 Question Id : 9380662293 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are so related that they can neither be true together nor can
they be false together?

A. All printers are computer peripherals.

B. Some computer peripherals are printers.

C. Some printers are not computer peripherals.
D. No printers are computer peripherals.

Choose the correct answer from the options given below:

1. Aand D Only
2.B and C Only
3. Aand C Only
4. A and B Only
Options :
9380668909. 1
9380668910. 2
9380668911. 3
9380668912. 4



Question Number : 28 Question Id : 9380662293 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafaRad 7 9 oiA- ufagftaul 39 veR a=fRid g fd d gHl ary-ary 3 d) b gl adbdl §
3R A &Hl 91Y-91Y 318 gl Yobdll 82

A. o flieR, YR URGRA A B |
B.@aﬂa@?ﬁﬁﬂﬂa e gld Bl
C. ©S fiex, HuIex URKG gl gid g |
D. ﬁélﬂfﬁamﬁﬁﬁﬂaﬂﬁsﬁmél
A feu ¢ fadedi o § TE SR I
|. ®hdd A 3R D
2. HaAdB AR C
3. Had A 3R C
4. Pdd A 3R B
Options :

9380668909. 1
9380668910. 2
9380668911. 3
9380668912. 4

Question Number : 29 Question Id : 9380662294 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of increasing intension.

A. Prose

B. Story

C. Short Story
D. Literary Work

Choose the correct answer from the options given below:

I.D:A B €
2.D.B,C.A
3.C,B.AD
4.C,A.B.D
Options :
9380668913. 1
9380668914. 2
9380668915. 3
9380668916. 4



Question Number : 29 Question Id : 9380662294 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ded Uy & vd ¥ RgfeRad & ogafiud sifse:

AT

B. el

C. AYH Yl

D. UIfgfdd ofd

fid feu g fasbedl # 1 91 Sk I

1.D.A B ,C
2.D.B.C.A
3.C,B.AD
4.C,A.B,D
Options :

9380668913. 1
9380668914. 2
9380668915. 3
9380668916. 4

Question Number : 30 Question Id : 9380662295 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Classical Indian School of Logic, the argument- ““Sound is eternal because it is
produced” is fallacious because:

1. It involves contradictory middle-term.
2. Here the middle term 1s too narrow.

3. Here the middle term is too wide.

4. Here vyapti is conditional.

Options :

9380668917. 1
9380668918. 2
9380668919. 3
9380668920. 4



Question Number : 30 Question Id : 9380662295 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U YR dh=IRd Hd & SR <l MYd g il I8 Sdd Dl il g~ i,
dBaIvgad ¢ Fifd:

1. S ATH HegHUS AT 6 |
2. i AL UG 3Afd Ghivi gl
3. il HIHYG AYH AP g |
4. T T JIUTY® g |

Options :

9380668917. 1

9380668918. 2

9380668919. 3

9380668920. 4

Question Number : 31 Question Id : 9380662296 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct physical address of a computer?

I.FC:F8:AE: 7B
2. FB: P . AF
3. F8:FA:7B:FC:16: 1B: AB
4 FE: PO AE TR 16:CE
Options :
9380668921. 1
9380668922. 2
9380668923. 3
9380668924. 4

Question Number : 31 Question Id : 9380662296 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Faffad 4 9 o491 fodl drger o g8l ardids 1gy g2

I1.FC:F8:AE: 7B
2.F8 :FC: AE
3.F8:FA:7TB:FC:16:1B: AB
4 F8:FC.AE:7B:16:CE
Options :
9380668921. 1
9380668922. 2
9380668923. 3
9380668924. 4




Question Number : 32 Question Id : 9380662297 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

www.ncert.nic.in in the following web address is called
http://www.ncert.nic.in/textbook/textbook.htm

1. DNS Server

2. Subdomain

3. Domain name

4, Uniform resources identifier

Options :

9380668925. 1
9380668926. 2
9380668927. 3
9380668928. 4

Question Number : 32 Question Id : 9380662297 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g ﬁfq i dq U,%ﬂ H www.ncert.nic.in @1 &l gl Wildl % .

http://www.ncert.nic.in/textbook/textbook.htm

1. 31 U9, U9 gk
2. JdSIHA
3. SMHA M

4. BT RS 312 SFEHIR (U Y14 UgdHddi)

Options :

9380668925. 1
9380668926. 2
9380668927. 3
9380668928. 4



Question Number : 33 Question Id : 9380662298 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the correct sequence of largest to smallest unit of Memory access time?

A. Millisecond
B. Picosecond
C. Nanosecond

D. Microsecond
E. Second

Choose the correct answer from the options given below:

1LED.C,AB
2.E.AB,C.D
3.E.A,D,C,B
4 E,C,D,A,B
Options :

9380668929. 1
9380668930. 2
9380668931. 3
9380668932. 4

Question Number : 33 Question Id : 9380662298 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRed o O o9 -0k Tay sy &1 f[axreay 9 dYdd db &I Ugl o g2

A. S s
B. U bdhg
C. HSHS

D. HIgh b S
E.ddhs

4 few T faab et # 1 9l SR 9

mmmm
Op o

-

Fo i =
=N-N-Ne
NNy
toto 9w

Options :

9380668929. 1
9380668930. 2
9380668931. 3
9380668932. 4



Question Number : 34 Question Id : 9380662299 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

A. Full duplex communication is bidirectional.

B. FM radio is an example of simplex communication.

C. Walkie- talkie is an example of full duplex communication.

D. In half duplex communication both devices can send and receive data at the same time.
E. A landline telephone is an example of half duplex communication.

Choose the correct answer from the options given below:

I.A,B,C,Dand E
2. C,D and E Only
3. Aand B Only
4. A, B and D Only
Options :
9380668933. 1
9380668934. 2
9380668935. 3
9380668936. 4

Question Number : 34 Question Id : 9380662299 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFAHfRad § U By HYd Id g2

A. Bd Skidy YR fGTd gl

B. U, UH. I41 Fwidy §dR &1 Uh IS8R0l

c. H"Hﬂ?ﬁtgﬂ gublcid YdR DI Udh 3GIeRU g |

D. §1t Gwidd YR H G SUHI ST B U gl T TR HT 3R W1 PR Fdl |
E. dSdlg el g% Sid HdR &l Udh 34150 g |

4 few T faab et # 1 9l SR 9

I.A,B,C,D3RE
2. Had C, D3R E
3. HId A 3R B

4. ®Hdd A, B3ARD

Options :

9380668933. 1
9380668934. 2
9380668935. 3
9380668936. 4




Question Number : 35 Question Id : 9380662300 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-II
(Electronic Device) (Properties)
A.| Wireless mouse I. |Reading of car number plate
B. | Optical mouse II. | Output device
C.|Liquid Crystal Display III. | Infrared light
D.|Optical Character Reader IV. [Radio waves

Choose the correct answer from the options given below:

1. A-IV, B-11I, C-II, D-I
2. AL B-1V, C-1I, D-1
3. A-IV, B-1, C-1I, D-III
4. A-IIT, B-II, C-IV, D-1

Options :

9380668937. 1

9380668938. 2

9380668939. 3

9380668940. 4

Question Number : 35 Question Id : 9380662300 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

A.| IR AI3Y I |®HR AR @ &I Ul
B.| 3ifPdd AIGY I1. | 3{T3CYT SUDBRI
C.|feplas fbted fsuw 1L | 34 RS e (URISTH U1
D.| 3V Hd Bidex s Iv. [¥f3ar 49
Id feu T fad el & U Igl 3R &1 99 Bifolu -

1. A-IV, B-IIL, C-II, D-I
2. A-IIL, B-1V, C-I1, D-I
3.A-IV, B-1, C-I1, D-III
4. A-II1, B-II, C-IV, D-1

Options :

9380668937. 1

9380668938. 2

9380668939. 3

9380668940. 4



Question Number : 36 Question Id : 9380662301 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about pure rain water?

A. Tt is naturally acidic

B. It is naturally basic

C. It is neutral (neither acidic nor basic)

D. It's pH value 1s 7

E. It is called as acid rain when pH becomes less than 5.6

Choose the correct answer from the options given below:

1. Aand E Only
2. C and D Only
3.B Only
4. C and E Only
Options :
9380668941. 1
9380668942. 2
9380668943. 3
9380668944. 4

Question Number : 36 Question Id : 9380662301 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafRgd © U S 91 S8 HYF Y 981 ofd & R T 9 §/8?

A. I8 WIHIfdd 30 ¥ g 3|
B. Ug WIHI[dP U HTURYI g |
C. g deRy (A 1 3%y, 7 81 SMYRYS) B

D. 3Y®I1 pH HH 7 B
E. S pH 5.6 Y &H &4 SIIdl g dl 34 37 98 & &4 H gl Slldl g

4 few T fasb et # 1 91 SR I

. Hdd A 3R E
2. Hadd C AR D
3. Hdd B
4. $Had C ARE
Options :
9380668941. 1
9380668942 2
9380668943. 3
9380668944. 4




Question Number : 37 Question Id : 9380662302 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following steps of hydrological cycle water is purified?

1. Condensation
2. Precipitation
3. Evaporation
4. Transpiration
Options :
9380668945. 1
9380668946. 2
9380668947. 3
9380668948. 4

Question Number : 37 Question Id : 9380662302 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

STel AR I & FfRad 9Ro # ¥ fhaw ofd & URYS gl 82

1. 9944

2. AGEgu
3. g {H 0
4. Aol

Options :

9380668945. 1
9380668946. 2
9380668947. 3
9380668948. 4

Question Number : 38 Question Id : 9380662303 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The scale, which not only measures the intensity of earthquake but also its impact on people, is
known as

1. Richter Scale
2. Modified Mercalli Scale

3. Seismogram
4. Intensity Scale

Options :

9380668949. 1
9380668950. 2
9380668951. 3
9380668952. 4



Question Number : 38 Question Id : 9380662303 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3G A1l (Ihel) & (5 T O fbod U d SH1 91l g Sl 4 dhddd Yhd Dl dliddl ol J19- hd]
31U, AN IR IqP UG B 4l ATl g2

1. Raex Whal
2. UM ARGl Whd
3. Yy ol
4. dligdl Thd
Options :
9380668949. 1
9380668950. 2
9380668951. 3
9380668952 4

Question Number : 39 Question Id : 9380662304 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LIST-I LIST-II
(Disinfectant byproducts (DBPs) of Chlorine) (Chemical Composition)
A.|Dibromochloromethane I. [CHBr,Cl
B.|Bromoform II. |CHCl,
C.|Bromodichloromethane I11. | CHBrCly
D.|Chloro form IV.|CHBr3

Choose the correct answer from the options given below:

1. A-1V, B-III, C-1, D-II
2. A-IV, B-II1, C-II, D-1
3. A-IIL, B-1IV, C-1, D-II
4. A-IIT, B-1, C-IV, D-II

Options :

9380668953. 1
9380668954. 2
9380668955. 3
9380668956. 4



Question Number : 39 Question Id : 9380662304 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

ﬂﬂ?%ﬁ\qﬁl?af:ﬁwm @&ty amm?:ﬁ];m

A.| SaHIGARI #YH I. [CHBr,Cl

B.| s II. |CHCl;3

C.|FHrSIZaIRI A 1L, | CHBrCly

D. |FARIBIH Iv.| CHBr;
+d faU T fadedl & § Ul IR &1 99+ Difole

1. A-1IV, B-IIT, C-I, D-II
2. A-1V, B-1II, C-I1, D-1
3. AL B-1V, C-1, D-II
4. A-III, B-1, C-IV, D-II

Options :

9380668953. 1
9380668954. 2
9380668955. 3
9380668956. 4

Question Number : 40 Question Id : 9380662305 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true about moderator used in nuclear reactors?

A. Moderators slow down neutrons to sustain the chain reaction
B. Moderators stops the neutrons to control chain reaction

C. Without a moderator chain reaction would stop

D. Example of moderator is Graphite Rod

Choose the correct answer from the options given below:

1. Aand C Ounly
2.B and D Only
3. A, Cand D Only
4. B, C and D Only

Options :

9380668957. 1
9380668958. 2
9380668959. 3
9380668960. 4



Question Number : 40 Question Id : 9380662305 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

It Ta RugeRl 9§ wygad fadcd & Gy o [ 0 O #1901 98l g2
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1. Had A AR C
2. $ad B 3R D
3.%dd A, C 3R D
4. ®Hdd B, C 3R D

Options :

9380668957. 1
9380668958. 2
9380668959. 3
9380668960. 4

Question Number : 41 Question Id : 9380662306 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Basic principles of “Integrative Learning Map™ is

1. Assessment, Examination and Faculty Development.
2. Faculty Development, Assessment and Civic Engagement.
3. Curriculum Development, Faculty Development and Assessment.
4. Curriculum Development, Bridging programs and Assessment.
Options :
9380668961. 1
9380668962. 2
9380668963. 3
9380668964. 4



Question Number : 41 Question Id : 9380662306 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
<gafbd A ufdfE & 9o Ri<id g:-

1. 3HidperH, U1 3R YHH- b |

2. U [ddh1, 3fida IR ARG Y|

3. UIeay| fah i, Yh f[admr 3R 3fidad|

4. gr&ad] fadbr, U (foish) dridd 3R sifhaH|

Options :

9380668961. 1
9380668962. 2
9380668963. 3
9380668964. 4

Question Number : 42 Question Id : 9380662307 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Lord Macaulay had written in his famous Minutes called “Macaulay Minutes™ in the year

1. 1853
2. 1856
3. 1846
4. 1835
Options :
9380668965. 1
9380668966. 2
9380668967. 3
9380668968. 4

Question Number : 42 Question Id : 9380662307 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“TehTel e & =10 Y 39+ Uiy e (@1dde) &l |18 Habral A 14 99 o forar or.--

1. 1853
2. 1856
3. 1846
4. 1835
Options :
9380668965. 1
9380668966. 2
9380668967 3
9380668968. 4



Question Number : 43 Question Id : 9380662308 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following programme in order of their incorporation.

A. Achieving 100% literacy.

B. National Literacy Mission

C. Sarva Shiksha Abhiyan

D. NAEP [National Adult Education Programme]
E. Padhna Likhna Abhiyan

Choose the correct answer from the options given below:

1.E, A, B, C and D Only
2.D.B, C,Aand E Only
3.A,B,C,DandE Only
4.C,D, A, E and B Only

Options :

9380668969. 1

9380668970. 2

9380668971. 3

9380668972. 4

Question Number : 43 Question Id : 9380662308 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FfRad SRAHH! Bl I9d UR™ giH & hH H TR DIfoTT:-

A. X7 IfT=Id TI&RAT U DRl

B. IV H&RdT fRH

C. 9 e 3iftaE

D. U4. T. 3. Ul. Q191 ig Rien srddn)
E. YT feraT it

4 few T fasb et # 1 91 SR I

1. BAdE, A, B, C 3R D
2. $adD,B,C,A3RE
3. HAdd A, B,C,D 3R E
4. HAAC, DA E 3R B

Options :

9380668969. 1

9380668970. 2

9380668971. 3

9380668972. 4



Question Number : 44 Question Id : 9380662309 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the context of AI, NRF may consider a three-pronged approach. These are:

A. Advancing International research efforts to address global challenges.
B. Developing and deploying application.

C. Efforts to address global challenges through research.

D. Advancing core Al research.

E. Enhancing the knowledge regarding AI, NRF

Choose the correct answer from the options given below:

1. A, B and D Only
2. A, B and E Only
3. A, Cand D Only
4. C,D and E Only

Options :

9380668973. 1

9380668974. 2

9380668975. 3

9380668976. 4

Question Number : 44 Question Id : 9380662309 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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4 few T fasb et # 1 91 SR I

1.Hdd A, B AR D
2. Had A, B3R E
3. HAd A, C IR D
4. Had C,D3IRE

Options :

9380668973. 1

9380668974. 2

9380668975. 3

9380668976. 4




Question Number : 45 Question Id : 9380662310 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LISTI LIST-II
(Academic Body) (Year of Establishment)

A.INCTE I. |1961

B.|UGC I. 2017

C.INTA III. | 1956

D.|NCERT IV. | 1995

Choose the correct answer from the options given below:

1. A-I, B-III, C-IV, D-II
2. AL B-I, C-1I, D-IV
3. A-IV, B-1II, C-II, D-1
4. A-II, B-TII, C-IV, D-1

Options :

9380668977. 1

9380668978. 2

9380668979. 3

9380668980. 4

Question Number : 45 Question Id : 9380662310 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y Yl ol e difsre:

crorgive from e
A T4 d S I |1961
B. (g, it . L. {2017
C.lea.dlu 1IL [ 1956
D. |tH. 9. 3. 3R. 4. IV.|1995
AId feu Y fadhetl & 4 Il SR &1 94+ Pifoll ;

1. A-I, B-III, C-IV, D-II
2. A-II1, B-1, C-1I1, D-1IV
3.A- IV, B-II0, C-I1, D-1
4. A-II, B-1II, C-IV, D-1

Options :

9380668977. 1

9380668978. 2

9380668979. 3

9380668980. 4

Sub-Section Number : 3



Sub-Section Id : 93806699
Question Shuffling Allowed : No



Question Id : 9380662311 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage carefully and answer the questions:

The rule of the road means that in order that the liberties of all may be preserved, the liberties of
everybody must be curtailed. When the policemen, say, at a road-crossing steps into the middle of
the road and puts out his hand, he is the symbol not of tyranny but of liberty. You have submitted
to a curtailment of private liberty in order that you may enjoy a social order which makes your
liberty a reality. We have both liberties to preserve- our individual liberty and our social liberty.
That is, we must have a judicious mixture of both. I shall not permit any authority to say that my
child must go to this school or that, shall specialise in science or arts. These things are personal.
But if I say that my child shall have no education at all, then society will firmly tell me that my
child must have education whether I like it or not.

Sub questions

Question Number : 46 Question Id : 9380662312 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

To preserve liberties of all, they should be

. withdrawn.

. selective.

. redefined.

4. reduced to a reasonable extent.

fad [od =

Options :

9380668981. 1
9380668982. 2
9380668983. 3
9380668984. 4

Question Number : 47 Question Id : 9380662313 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The author intends to tell that the rule of the road stands for

1. Public liberty
2. Private liberty
3. Liberty 1n a true sense of word
4. Individual liberty
Options :
9380668985. 1
9380668986. 2
9380668987. 3
9380668988. 4

Question Number : 48 Question Id : 9380662314 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



One needs to preserve one's

1. Individual liberty
2. Social liberty
3. Personal liberty
4. Both individual and social liberty
Options :
9380668989. 1
9380668990. 2
9380668991. 3
9380668992. 4

Question Number : 49 Question Id : 9380662315 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Selection of a school for the child study will be considered as

1. Personal liberty
2. Social liberty
3. Individual liberty
4. Collective liberty
Options :
9380668993. 1
9380668994. 2
9380668995. 3
9380668996. 4

Question Number : 50 Question Id : 9380662316 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The most suitable title of the passage would be

1. The Policeman at cross roads
2. The Road Laws
3. Importance of Liberty
4. The Children's Rights
Options :
9380668997. 1
9380668998. 2
9380668999. 3
9380669000. 4



Question Id : 9380662311 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
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Sub questions

Question Number : 46 Question Id : 9380662312 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gl Pt TdAarai & W& 3 I

1. A19Y o ferar ST 91igu|

2. IUATHS gIFT dIigu]|
3. O GRYINT fhar ST =g |
4. I AITd IIH1 dh & H fod1 ST d1igu|

Options :

9380668981. 1
9380668982. 2
9380668983. 3
9380668984. 4

Question Number : 47 Question Id : 9380662313 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DS BT ARA g SaHl ¢ (b Yo & Fod g ede:

1. gidSiie WdAdl
2. TSl T
3. 316G & Yol A H Wd=d
4. AT dAdl
Options :
9380668985. 1
9380668986. 2
9380668987. 3
9380668988. 4




Question Number : 48 Question Id : 9380662314 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
oH 9 J O foud dramr & saxusdi g2

1. AT ¥ddadl
2. ST WadAdl
3. RN dAdl
4. AT 9 GHAMSD Wdadl, Gl &I
Options :
9380668989. 1
9380668990. 2
9380668991. 3
9380668992. 4

Question Number : 49 Question Id : 9380662315 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o= @) Rie gd faeaa & =94 & g & O @ aF1 S

. AfddITd IddadI
2. TSI Tl
3. AddITd [dadl
4. U¥fgd WdAd

Options :

9380668993. 1
9380668994. 2
9380668995. 3
9380668996. 4

Question Number : 50 Question Id : 9380662316 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3 TR b Yal¥d Iugad 2N g H 9§ &1 g

1. IRTg R Gferadaf
2. gSdh & gH
3. GdAd $T Hgd
4. 9l & AUDBR
Options :
9380668997. 1
9380668998. 2
9380668999. 3
9380669000. 4

Philosophy
Section Id : 93806634



Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 938066100
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 9380662317 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Carvaka Darsana defines Atman as ;

|. Caitanya-visista-deha-matra -eva-atma
2. Caitanva-deha-eva- atma
3. Caitanva- atma
4. Caitanya-vaisistya atma
Options :
9380669001. 1
9380669002. 2
9380669003. 3
9380669004. 4

Question Number : 51 Question Id : 9380662317 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

drdlch G AT DI " 9 H GRHIMNT IRl g 2

1. da-Y - [AfR1y- <8 - A1 - 34 - 3{1dAT
2. dd - &g -3d - T

3. _ 3T
4. - - afreed - 3T
Options :

9380669001. 1
9380669002. 2
9380669003. 3
9380669004. 4



Question Number : 52 Question Id : 9380662318 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Dharmakirti, Pratyaksa means:

1. Apprehending a thing as it-is-in-itself
2. Apprehending a thing as it appears
3. Apprehending a thing as it is conceptually constructed
4. Apprehending a thing as an abhasa
Options :
9380669005. 1
9380669006. 2
9380669007. 3
9380669008. 4

Question Number : 52 Question Id : 9380662318 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. 9% Pl WY I g

2. 9% HI Uclld =9 H GHIA

3. 9% P! YYD [Affd &u d gagH]
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Options :

9380669005. 1
9380669006. 2
9380669007 3
9380669008. 4

Question Number : 53 Question Id : 9380662319 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Prakriti parinamavada’ is the theory of causation propounded by

1. Nyaya

2. Carvaka

3. Samkhya

4. Advaita
Options :
9380669009. 1
9380669010. 2
9380669011. 3
9380669012. 4



Question Number : 53 Question Id : 9380662319 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Yobfd URUIHdIE SRIGRU-HId &I Ri<id g, 241 Ufdure fha- fbar ur 2

1.
2. grdld
3. g

4. 3lgd
Options :
9380669009. 1
9380669010. 2
9380669011. 3
9380669012. 4

Question Number : 54 Question Id : 9380662320 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Athato Brahma Jijiasa’ is taken from the primary text called:

1. Atharvaveda
2. Upanisad
3. BhagavadGita
4. Brahmasiitra
Options :
9380669013. 1
9380669014. 2
9380669015. 3
9380669016. 4

Question Number : 54 Question Id : 9380662320 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YTl oI o foh s U@ o= 9 feran g 2

1. 3Yddg
2. 3ufYeg
3. Yiagidr
4. dlglyd

Options :

9380669013. 1
9380669014. 2
9380669015. 3
9380669016. 4



Question Number : 55 Question Id : 9380662321 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The notion of ‘saptabhangi-naya’ is propounded by

l. Buddhism

2. Mimamsa

3. Nyaya

4. Jainism
Options :
9380669017. 1
9380669018. 2
9380669019. 3
9380669020. 4

Question Number : 55 Question Id : 9380662321 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I 7T D1 YR fhdd gR1 ufdriead o 71 di?

1. 4l &=
2. HiHRr g
3. A GRH
4. 5H e=H

Options :

9380669017. 1
9380669018. 2
9380669019. 3
9380669020. 4

Question Number : 56 Question Id : 9380662322 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

'"Ekarh Sat vipra bahudha vadanti' is an extract from

1. Rg Veda

2. Yajur Veda

3. Sama Veda

4. Atharva Veda
Options :
9380669021. 1
9380669022. 2
9380669023. 3
9380669024. 4



Question Number : 56 Question Id : 9380662322 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

THH U faum Sgen e fHed 3gyd e 2

1. BdG
2. Uqd%
3. gHdG
4. 3{ydde
Options :
9380669021. 1
9380669022. 2
9380669023. 3
9380669024. 4

Question Number : 57 Question Id : 9380662323 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Citta-vritti nirodhaséa vogah’ is the definition of Yoga given in

1. Ramayana

2. Paficadashi

3. Gita

4. Yoga stutram
Options :
9380669025. 1
9380669026. 2
9380669027. 3
9380669028. 4

Question Number : 57 Question Id : 9380662323 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i &1 gy Fad- g FRIYy A g i s g 2

1. XTHIGU[
2. Gdqzit
3. Tt

4. AN

Options :

9380669025. 1
9380669026. 2
9380669027. 3
9380669028. 4



Question Number : 58 Question Id : 9380662324 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

'Ananta dharmakam vastu® means:

1. A thing has infinite properties.
2. A thing has finite properties.
3. A thing has both finite and infinite properties.
4. A thing has neither finite nor infinite properties.
Options :
9380669029. 1
9380669030. 2
9380669031. 3
9380669032. 4

Question Number : 58 Question Id : 9380662324 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3 YD I DT Y -

1. 9% & ST U1 g

2. 9] & GITd o g

3. 9% & NG 3R SRAPd gHi 0 g

4. 9 & 7 A1 G o1 g 3R A R qur g

Options :

9380669029. 1
9380669030. 2
9380669031. 3
9380669032. 4

Question Number : 59 Question Id : 9380662325 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following philosophers rejected the Platonist view about existence of an evil as
substance and endorsed the Neo-Platonist view that evil is unsubstantial?

1. St. Augustine

2. St. Anselm

3. 5t. Thomas Aquinas

4. St. John the Evangelist

Options :

9380669033. 1
9380669034. 2
9380669035. 3
9380669036. 4



Question Number : 59 Question Id : 9380662325 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafafad 0 9 foy gRiFe 4 9d & =0 YU & 3HKid & dR § weldid] [daR &)
PR H (AT 3R 24 4 Wicldd] {9ar &1 gfP &1 & gy IR 82

1. ¥ 3HRers

2. Y T1H

3. e YTAY Ul
4. Y N § Udolfere

Options :

9380669033. 1
9380669034. 2
9380669035. 3
9380669036. 4

Question Number : 60 Question Id : 9380662326 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among these philosophers believed that self is nothing but a bundle of impressions?

1. Berkeley

2. Hume

3. Locke

4. Leibnitz
Options :
9380669037. 1
9380669038. 2
9380669039. 3
9380669040. 4

Question Number : 60 Question Id : 9380662326 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafafad 4 9 ol 91 =i gg aHdr g fdb 3iidl 3R @ g1 dfcth YRl &1 Uh g 3

1. dbdl

2.g4H
3. dld

4. AREAS

Options :

9380669037. 1
9380669038. 2
9380669039. 3
9380669040. 4



Question Number : 61 Question Id : 9380662327 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following statements shall not align with Kant’s thought?

1. Reason forms the basis of our faculties and of things.
2. The legislation of will is practical reason.
3. Physical laws are inexorable.
4. Moral laws do not compel.
Options :
9380669041. 1
9380669042. 2
9380669043. 3
9380669044. 4

Question Number : 61 Question Id : 9380662327 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafcRed o O &I 91 HYH Hic & [daR & 3R~ 181 I 2

1. dbdieg SHRI ARkl 3R axg3il BT YR &l g |
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3. Hifdd fAaH 3fed gid gl

4. 9fde Fram 9 78T Hd B

Options :

9380669041. 1
9380669042. 2
9380669043. 3
9380669044. 4

Question Number : 62 Question Id : 9380662328 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the followings is a correct explanation of monads according to Leibnitz?

1. Monads are mathematical points.
2. Monads are physical points.
3. Monads are metaphysical points.
4. Monads are scientific points.
Options :
9380669045. 1
9380669046. 2
9380669047. 3
9380669048. 4



Question Number : 62 Question Id : 9380662328 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

digdfel & YR gy (@H49) i FufeRdd ¥ 9 &I+ 9l Ugl arar g 2

1. ferguy Tiordia fdg 31
2. fergu vifds fdg g1
3. QU daviimi fdg B
4. g 491 fdg g

Options :

9380669045. 1
9380669046. 2
9380669047. 3
9380669048. 4

Question Number : 63 Question Id : 9380662329 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Democritus’ Atomism, what are the fundamental substances?

1. Fire, water, air and earth
2. Atoms and void
3. Energy particles
4. Continuous uniform matters
Options :
9380669049. 1
9380669050. 2
9380669051. 3
9380669052. 4

Question Number : 63 Question Id : 9380662329 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ST & YRANEIG & SIHR, Jol ded R G 2

1. 3{f#, STd, 91g 3R gedt
2. TRAT 3R YA
3.3l Bl

4. A UHgaH Ui

Options :

9380669049. 1
9380669050. 2
9380669051. 3
9380669052. 4



Question Number : 64 Question Id : 9380662330 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What problem does Aristotle’s ‘“Third Man argument’ raise concerning Plato’s theory of form?

1. It demonstrates that Forms are constantly changing.

2. It shows that Forms are material.

3. It implies an infinite regress of Forms, making it impossible to explain the relationship
between forms and particulars.

4. It shows that Forms are subjective mental constructs.

Options :

9380669053. 1
9380669054. 2
9380669055. 3
9380669056. 4

Question Number : 64 Question Id : 9380662330 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3REJ DI 1T Afekd Gfckt (Y3 T M) wiel & g & Ngid (AR 31 Biid) & aR
o 3G 9H] 3dT DAl g 2

1. U8 S0idl g T U FRaR uRad==iid g1

2. Ug QR g DI UTg HildFH g |

3. U8 Ul & 3Hd UlaiTHA &1 Udod Bl o, orad U™l iR [afRiipal & «ig G
THSET YT gl ST g |

4. 9g &Iidl © T Uy [awai=s AFRIS 91U 6 |

Options :

9380669053. 1
9380669054. 2
9380669055. 3
9380669056. 4

Question Number : 65 Question Id : 9380662331 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Parmenides, which of the following does not follow from his claim that “what is, is
and what 1s not, is not™?

1. Change is illusory.

2. Plurality is impossible.

3. Non-being is inconceivable.

4. Being comes into existence and passes away.

Options :

9380669057. 1
9380669058. 2
9380669059. 3
9380669060. 4



Question Number : 65 Question Id : 9380662331 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

URAMTSISS & 9, FHfiad 3§ @ 1 91376 o <6l 8, 98 & 2R ol 181 8, 98 g1 &
DT SRV 5! DT 6?2

1. GRadH Y g |
2. ¥ HYT G|
3. 3 3h e g
4. 9 &I T 3{Td1 g 3R Il SIdl g
Options :
9380669057. 1
9380669058. 2
9380669059. 3
9380669060. 4

Question Number : 66 Question Id : 9380662332 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The prayojana of all acts according to Nyaya school is:

1. Pravriti and Nivrtti
2. Sukha prapti and Duhkha parihar
3. Avarana and Viksepa
4. Raga and Dvesa
Options :
9380669061. 1
9380669062. 2
9380669063. 3
9380669064. 4

Question Number : 66 Question Id : 9380662332 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 YYER & S8R Ul SRl ol JaieiH 8 -

1. R SR g

2. Y9 I 31R g URER
3, 3T 3R fqem

4. 30T 3R gV

Options :

9380669061. 1
9380669062. 2
9380669063. 3
9380669064. 4



Question Number : 67 Question Id : 9380662333 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the Nyaya school of philosophy, the two ideals open to human beings are:

1. Abhyudaya and Nisreyas
2. Kama and Dharma
3. Srevas and Prevas
4. Jivanmukti and Videha mukti
Options :
9380669065. 1
9380669066. 2
9380669067. 3
9380669068. 4

Question Number : 67 Question Id : 9380662333 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

19 &2 & IR 79 & fou W &l e g -

1. 32y 3R Fggy
2. B 3R 44
3. 999 3R UTy

4. Siigdfad 3R facgHf

Options :

9380669065. 1
9380669066. 2
9380669067. 3
9380669068. 4

Question Number : 68 Question Id : 9380662334 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Among the four Purusarthas, which one is context free?

1. Dharma
2. Artha
3. Kama
4. Moksa
Options :
9380669069. 1
9380669070. 2
9380669071. 3
9380669072. 4



Question Number : 68 Question Id : 9380662334 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AR GEYTYT § W DI9 W1 U Tourd g6 gad g 2

L
2. 3%
3. Dh[H

4. HIg
Options :
9380669069. 1
9380669070. 2
9380669071. 3
9380669072. 4

Question Number : 69 Question Id : 9380662335 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Deontological theory of moral goodness is associated with:

1. Aristotle

2. Spinoza

3. Kant

4, Moore
Options :
9380669073. 1
9380669074. 2
9380669075. 3
9380669076. 4

Question Number : 69 Question Id : 9380662335 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A Yy &1 aRomA FRUe Rigid fhad defdd g 2

1. 3R
2. RUAI

3. DIc
4. H

Options :

9380669073. 1
9380669074. 2
9380669075. 3
9380669076. 4



Question Number : 70 Question Id : 9380662336 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following most appropriately defines the idea of eudemonia?

1. Happiness is driven by the spirit of celibacy.
2. Happiness is driven by the sense of excellence.
3. Happiness is gained through pleasurable sensation.
4. Happiness is gained by the avoidance of pleasure.
Options :
9380669077. 1
9380669078. 2
9380669079. 3
9380669080. 4

Question Number : 70 Question Id : 9380662336 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRed o O & O -gSaifar & fadR & 968 Sugdd d_id I URUINT R 2

1. 3¢ sigrad &1 Y1 gR1URd gldr g
2. e IHTAT $ HId gRTIRT ST |
3. 3I-i¢ gWe dad & AreH g UItd gl g

4. 3fFic 9 & URBR §RI UK SIdT ¢

Options :

9380669077. 1
9380669078. 2
9380669079. 3
9380669080. 4

Question Number : 71 Question Id : 9380662337 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“we must tolerate the view point of the other even if those view points go strongly against our
view points: because, in the past, we have made wrong judgements about things/action/events,
and there is possibility that the view I hold to be true now may turn out to be wrong later.” With
whom is the above argument on toleration associated with?

1. Aristotle

2. Machiavelli

3. Locke

4. Kant
Options :
9380669081. 1
9380669082. 2
9380669083. 3
9380669084. 4



Question Number : 71 Question Id : 9380662337 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gl Rl & [d9RI &I Ug- A1 1T, Ul gl d f[daR gUR fadR] & feedpd faudid g
Fif U 3fciid H a&g3if / il / ge-r3fi & aR  Teld 07 fau 8 3R 39a! GuE- g fa
%@m?w%ﬁmﬁwmﬁﬂﬁwéwﬂ%@m%aﬁﬁwﬂmgﬁa

1. 3%
2. Afdardal

3. dld

4. Pl
Options :
9380669081. 1
9380669082. 2
9380669083. 3
9380669084. 4

Question Number : 72 Question Id : 9380662338 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which proofs for the existence of the God did Swami Vivekananda relied upon?

1. Cosmological Proof
2. Ontological Proof
3. Moral Proof
4. Intuitional Proof
Options :
9380669085. 1
9380669086. 2
9380669087. 3
9380669088. 4

Question Number : 72 Question Id : 9380662338 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W f[addTHG 3 59 & KT & foog YA R [y STar 2

1. g gers uAm0r
2. THD JHI0T
3. i yaTn
4. 3f=1: U YT
Options :
9380669085. 1
9380669086. 2
9380669087. 3
9380669088. 4



Question Number : 73 Question Id : 9380662339 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the ultimate objective of Integral Humanism in the philosophy of Deendayal Upadhyaya?

1. The state policy must ensure safety, dignity and freedom of individual over and above
everything.
2. The state policy must ensure balance development of individual with the welfare of the
group.
3. The state policy must ensure primary welfare of the group which structurally includes the
individual welfare.
4. The state policy must ensure the intra-individual development that will ensure stability and
growth of various psychological development in an individual.
Options :
9380669089. 1
9380669090. 2
9380669091. 3
9380669092. 4

Question Number : 73 Question Id : 9380662339 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

dIHeard SUTHr & &%+ | U THddIg (SEd ggi-oH) S R I |18 2

1. ¥rey HIfd &1 cufdd ol gram, 1RAr 3R WdAdl &l Y49 SR AT H-1 1fgu|

2. X Hifd B Al & f[Ih™ 3R G & HedIvl & s T G B 18U

3. XY Hifd &l 9gg &1 Uil dediv) YA o1 9ifgu ford dRaHids =4 4 Afdd
DI DAl M gl

4. 3T Hif D1 afad &1 3ia: fabr gHiEd S3-1 91fg, 304 fad & f[afie yeR &
IS fahRT &1 [RaT 31 gl G-1erd gl

Options :

9380669089. 1
9380669090. 2
9380669091. 3
9380669092. 4




Question Number : 74 Question Id : 9380662340 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following philosophers emphasized the primacy of ethics?

1. Edmund Husserl
2. Martin Heidegger
3. Emmanuel Levinas
4. Maurice Merleau-Ponty
Options :
9380669093. 1
9380669094. 2
9380669095. 3
9380669096. 4

Question Number : 74 Question Id : 9380662340 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRed o U foy aRife F Hifdrd o ugEd )R SR fear 2

1. UsHsS gud
2. HIfCABIS SR
3. SH 3 cfd-ry
4. AIRY A4l - Ui
Options :
9380669093. 1
9380669094. 2
9380669095. 3
9380669096. 4

Question Number : 75 Question Id : 9380662341 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following philosophers preaches theistic existentialism?

1. Soren Kierkegaard
2. Friedrich Nietzsche
3. Jean Paul Sartre
4. Emmanuel Levinas
Options :
9380669097. 1
9380669098. 2
9380669099. 3
9380669100. 4



Question Number : 75 Question Id : 9380662341 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafeiRad ¥ ¥ ®H U arRiFe 4 s9Rard! sifkiddrg &1 [dar féar 2

1. GRA fhdis
2. TheRd Il

3. i Tl 9

4. 3H3{c olfdry

Options :

9380669097 1
9380669098. 2
9380669099. 3
9380669100. 4

Question Number : 76 Question Id : 9380662342 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Things seen in theoretical mode bracketed from their connections and engagements with Dasein’s
interest are called

1. Readiness to hand

2. Present at hand

3. Being-in-the-world

4. Being-about-the-world

Options :

9380669101. 1
9380669102. 2
9380669103. 3
9380669104. 4

Question Number : 76 Question Id : 9380662342 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Yifdd Usid H e & AR & 91U 30 US| 2R Gaudl ¥ $I8idbd (ddhes) U
ﬁ@%’éﬁ aﬁfﬁ@ﬁwaﬂﬂlﬂl %’?

. ¥SHEEes
2. YSIcUCES
3.1971-59-% -9
4. 9157 -TE¥C - § - d©
Options :
9380669101. 1
9380669102. 2
9380669103. 3
9380669104. 4



Question Number : 77 Question Id : 9380662343 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the followings is true regarding “Epoché’?

1. Presuppositions are to be rejected.
2. Presuppositions are to be prohibited.
3. Presuppositions are to be suspended.
4. Presuppositions are to be accepted.
Options :
9380669105. 1
9380669106. 2
9380669107. 3
9380669108. 4

Question Number : 77 Question Id : 9380662343 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

9380669105. 1
9380669106. 2
9380669107 3
9380669108. 4

Question Number : 78 Question Id : 9380662344 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In Russell’s view, definite descriptions are:

1. Names
2. Referring Expressions
3. Disguised quantifiers
4. Indexicals

Options :

9380669109. 1

9380669110. 2

9380669111. 3

9380669112. 4



Question Number : 78 Question Id : 9380662344 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Wd & faaR J Ryardas vl (SfbfAe fsfipuzm) g -

1.9
2. Fdelt eiftyaafdrai
3. Uaddl URHAT0ID
4. [Fc=®

Options :

9380669109. 1
9380669110. 2
9380669111. 3
9380669112. 4

Question Number : 79 Question Id : 9380662345 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W.V.0. Quine’s concept of radical translation most notably implies:

1. That actual translation is always possible due to universal grammar.

2. That there is no fact of matter about what a speaker means, and thus, no way to choose a
single correct translation.

3. That the accuracy of translation is ensured by the objective nature of meaning.

4. That translation is possible between languages with a common ancestor.

Options :

9380669113. 1
9380669114. 2
9380669115. 3
9380669116. 4

Question Number : 79 Question Id : 9380662345 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S, dl. 3l D12 B WSHd 3dIG DI HTYRUN T =0 Y gHD1 3R Hbd Dl 3-

1. Tt WraYITies 16U & HRUT dRdidd a6 ded Y44 gidl g |
2. b U AR G bls d gl gIdl g B! dadl &1 31T A1 3, 3H(eU fh 3l U gl 3idIg
&1 951 ol [T ol hdl g |
3. fth 341G D1 Tlihal 314 DI IIHE Ub(d gRT YT B Srdl g
4. T 1Y gdol areil uTsrafl & i 3dIg 44d g |
Options :
93p80669113.1
9380669114. 2
9380669115. 3
9380669116. 4



Question Number : 80 Question Id : 9380662346 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Why did Moore defend commonsense beliefs in his philosophical writings?

1. Because commonsense beliefs are popular
2. Because commonsense beliefs are self-evident truth that we directly experience
3. Because commonsense beliefs provide practical foundation to our knowledge
4. Because commonsense beliefs are simple

Options :

9380669117. 1

9380669118. 2

9380669119. 3

9380669120. 4

Question Number : 80 Question Id : 9380662346 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR = 30 SRS oG § 9 dfe &1 Adisi & 9919 /i fearg 2

1. i - dfeg D1 A by gidl gl
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|
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06117,
9380669118. 2
9380669119. 3
9380669120. 4

Question Number : 81 Question Id : 9380662347 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Gottlob Frege, what is the primary distinction between sense and reference of a
term?

1. Sense refers to the object, while reference refers to the way the object is presented.

2. Sense 1s subjective meaning, while reference is logical meaning.

3. Sense is the mode of presentation of an object, while reference is the actual object itself.
4. Sense and reference are the same.

Options :

9380669121. 1
9380669122. 2
9380669123. 3
9380669124. 4



Question Number : 81 Question Id : 9380662347 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Teclld thil & YR, fdhdl s &b 319 td Gl & ol UgE S |1 g 2
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Options :

9380669121. 1
9380669122. 2
9380669123. 3
9380669124. 4

Question Number : 82 Question Id : 9380662348 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the followings is the most appropriate definition of ‘satyagraha’?

1. Welcoming the truth
2. Abode of the truth
3. Experimenting the truth
4. Clinging onto the truth
Options :
9380669125. 1
9380669126. 2
9380669127. 3
9380669128. 4

Question Number : 82 Question Id : 9380662348 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafafad § 9 & W -gdwg: &1 Yl Sugdd uRUMNI g 2

1. & I I h-Al
2.9 Pl did
3. A BT TR BT
4. U 3iccl el
Options :
9380669125. 1
9380669126. 2
9380669127. 3
9380669128. 4




Question Number : 83 Question Id : 9380662349 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the followings is the most appropriate explanation of the concept “sarvodaya’?

1. Social justice for all
2. Upliftment of all, addressing to the least privileged
3. Food and security for the homeless
4. Universal brotherhood and oneness of humankind
Options :
9380669129. 1
9380669130. 2
9380669131. 3
9380669132. 4

Question Number : 83 Question Id : 9380662349 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

9380669129. 1
9380669130. 2
9380669131. 3
9380669132. 4

Question Number : 84 Question Id : 9380662350 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the second priority rule devised by John Rawls, fair opportunity is lexically prior to -----

1. Equality principle
2. Difference principle
3. Principle of opportunity
4. Liberty
Options :
9380669133. 1
9380669134. 2
9380669135. 3
9380669136. 4



Question Number : 84 Question Id : 9380662350 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

%Td J gr1 ufaquifed fedia uruffedr s | Sfd siawR wnfsad ©u I fHOd ugd gidl

L. gaEdr Rysid
2. i Rgid
3. 39 Rigid
4. WdAdT
Options :
9380669133. 1
9380669134. 2
9380669135. 3
9380669136. 4

Question Number : 85 Question Id : 9380662351 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following philosophers considers justice as only a ‘remedial’ virtue?

1. Plato

2. John Locke

3. John Rawls

4. Karl Marx
Options :
9380669137. 1
9380669138. 2
9380669139. 3
9380669140. 4

Question Number : 85 Question Id : 9380662351 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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3. Sl A
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Options :
9380669137. 1
9380669138. 2
9380669139. 3
9380669140. 4




Question Number : 86 Question Id : 9380662352 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the statements best explains “politics of recognition’?

1. Focus on socioeconomic injustice rooted in the economic structure of the society
2. Aim to reduce group differences
3. Focus on cultural injustice rooted in social patterns of representation
4. Distribute all the resources equally among all the citizens
Options :
9380669141. 1
9380669142. 2
9380669143. 3
9380669144. 4

Question Number : 86 Question Id : 9380662352 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

9380669141. 1
9380669142. 2
9380669143. 3
9380669144. 4

Question Number : 87 Question Id : 9380662353 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following list of the moods in the first figure is valid in Aristotelian Syllogism?

1. CESERE, CAMESTRES, FESTINO, BAROCO
2. BARBARA, CELARENT, DARII, FERIO
3. BRAMANTIP, CAMENES, DIMARIS, FESAPO
4. DARAPTI, DISAMIS, DATISI, FELAPTON
Options :
9380669145. 1
9380669146. 2
9380669147. 3
9380669148. 4



Question Number : 87 Question Id : 9380662353 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

uyy 3fdpfd d Fafafad 9 &4 9 faum gt sy &t qrea gy g 2

1. CESERE, CAMESTRES, FESTINO, BAROCO
2. BARBARA, CELARENT, DARIL FERIO

3. BRAMANTIP, CAMENES, DIMARIS, FESAPO
4. DARAPTI. DISAMIS, DATISI, FELAPTON

Options :

9380669145. 1
9380669146. 2
9380669147. 3
9380669148. 4

Question Number : 88 Question Id : 9380662354 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following is a proposition in predicate logic?

L(x)(f, =G,
2.(3.) (/e G)
2.(3,)(£,-6.)
- @), >6))

9380669151. 3
9380669152. 4

Question Number : 88 Question Id : 9380662354 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fatg adbume # Fgfafad 3 ¥ o1 9 i vl g2

L. (x)(f\ = Gr)
2 (3)(/,-G)
3.(3,)(f,-G,)
4. (1)(1" - (F_‘_)
Options :
9380669149. 1
9380669150. 2

9380669151. 3
9380669152. 4



Question Number : 89 Question Id : 9380662355 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the followings is true regarding the relation between theory and practice according
to Peter Singer?

1. Theories are not practiced.

2. Practices do not stem from theories.

3. Theories, which are not practiced, are not theories.
4. Theories and practices are not related.

Options :

9380669153. 1
9380669154. 2
9380669155. 3
9380669156. 4

Question Number : 89 Question Id : 9380662355 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

tﬂa%ﬁiméaaﬁﬂﬁ.fﬁamaﬁ?wa%ﬁaadﬁﬁﬁuéaaﬁﬁﬁaﬁf@ﬂﬁﬁaﬁ?maiw
el g 2

1. Rygidl &l sodgR | Aol @™ Sl 6|
2. AR Rigidl ¥ 3g3d gl 6l g |
3. o Rgidl & sgdgR # 8] AT ol o, d Risid Iol o |
4. T8gid 3R UggR Yeied gl g
Options :
9380669153. 1
9380669154. 2
9380669155. 3
9380669156. 4

Question Number : 90 Question Id : 9380662356 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

While consent is not obtained from a patient either because he is not asked for or has not decided
yet, the type of euthanasia executed is called

1. Voluntary

2. Active

3. Non-voluntary
4. Involuntary

Options :

9380669157. 1
9380669158. 2
9380669159. 3
9380669160. 4



Question Number : 90 Question Id : 9380662356 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T Y ggaid Al <l TS ¢, il a1 dl 3UY UgHId ¢+ & [e1U Aol dgl 71T g 91 349 gHld
& @1 3l ofg 981 feran 8, 1 39 UBR BIRd 351 §eg &I 1 Dl Sl g 2

1. Wissdh

2. gfhg

3. IR D
4. <D

Options :

9380669157. 1
9380669158. 2
9380669159. 3
9380669160. 4

Question Number : 91 Question Id : 9380662357 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequencing that make up ‘sadhana catustaya’

A. Tha mutrartha-bhoga-viragah
B. mumuksutvar

C. Samadamadi sadhana sarmpat
D. Nitvanityva vastu Vivekah

Choose the correct answer from the options given below:

Options :

9380669161. 1
9380669162. 2
9380669163. 3
9380669164. 4



Question Number : 91 Question Id : 9380662357 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HreH Agra & FHiRgd @Rl o) Ugl vd § Hdfyd & -

A. 38 AR - YT - faRIT:

B. HH&EH
C. TMcHIe Y-

Dﬁﬂﬁaaﬁﬁaﬁ
fid feu g fasbedl # 1 91 Sk I

-

-

30 0
w»> oo

e B
cop =
Wm0

Options :

9380669161. 1
9380669162. 2
9380669163. 3
9380669164. 4

Question Number : 92 Question Id : 9380662358 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequencing of the following tattvas in Samkhya philosophy.

A. Tanmatras, Bhutas

B. Prakriti, Mahat

C. Ahambkara, Manas

D. Sensory organs, Motor organs

Choose the correct answer from the options given below:

Options :

9380669165. 1
9380669166. 2
9380669167. 3
9380669168. 4



Question Number : 92 Question Id : 9380662358 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

iy 24 O Agfafad ddl & Ugl 3-dbd &l Ugd bifofu -
A. THHE, Yd

B. UPId, HEq
C.THR ATY
D. Il da =l

fid feu g fasbedl # 1 91 Sk I

-

nNpow

> a0
oW p O
we Rl v -2

)

e L D =

Options :

9380669165. 1
9380669166. 2
9380669167. 3
9380669168. 4

Question Number : 93 Question Id : 9380662359 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks :

Based on Plato’s metaphor of the Divided Line, arrange the stages of knowledge from lower to
higher

A Belief
B. Imagination

C. Intelligence
D. Thinking

Choose the correct answer from the options given below:

1.A.B,D.C
o ol T8
3.B,A,D,C
4.D,A,C,B
Options :
9380669169. 1
9380669170. 2
9380669171. 3
9380669172. 4



Question Number : 93 Question Id : 9380662359 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Telel & fqHIfSId 3T & 0 & 3R W I & IR0 bl (9 8 3 pH H W -

A. Hd (AT
B. Bl

c. 9l
D. fidd
fid feu g fasbedl # 1 91 Sk I

1.A.B,D.C

2.C,D.A.B

3.BADC

4.D.A,C,B
Options :

9380669169. 1
9380669170. 2
9380669171. 3
9380669172. 4

Question Number : 94 Question Id : 9380662360 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sequence the following ideas in order of their emergence in the western thought.

A. Mind and body are two attributes human intellect knows
B. God alone is a substance in the real sense of the term

C. No body without movement, No substance without effort
D. Thinking substance alone can be the cause of the ideas

Choose the correct answer from the options given below:

RN
© > p W
A
==k~

-

U:w‘nn

Options :

9380669173. 1
9380669174. 2
9380669175. 3
9380669176. 4



Question Number : 94 Question Id : 9380662360 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafaiad fdart & ufgdl fbdad § 3Hd 3gd & 3pa H 9 -

A. T 3R IRR 2101 ¢ Torg WHa i< ST 3

B. UgI A H S8R b gl s ¢

C. UdeH & f91 ®ig IRR 8], YO & 51 Pis god -Tg ]|
D. a4 g 3fdral gl [daR 3dd &R Idhdl g

fid feu g fasbedl # 1 91 Sk I

1.B,A.C,D

2.A,B.C,D

3.]A,C,B,D

4.B,A. D, C
Options :

9380669173. 1
9380669174. 2
9380669175. 3
9380669176. 4

Question Number : 95 Question Id : 9380662361 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following statements in terms of thoughts and arguments:

A. Hegel’s idea of real is different from what the empiricists call as empirically ‘real’.
B. The idea of absolute spirit manifests in the form of Geist.

C. Hegel’s famous slogan 1s: ‘the real is rational, the rational is real’.

D. His idea of rational, on the other hand, leads to the idea of spirit, i.e. absolute.

E. For Hegel, empiricists would be irrational.

Choose the correct answer from the options given below:

1.A.B,D.E.C

A HACBE

3.0, B AE

4.C,A,E,D.B
Options :

9380669177. 1
9380669178. 2
9380669179. 3
9380669180. 4



Question Number : 95 Question Id : 9380662361 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fa=RT 3k gfdaal @t =fP O fufiRad syl o Ugl oH H ¥ -

A. B &1 Ud &1 f[ddR 399 i 8, 51 S[uIadrd! Suiids U T -Uq Hgd 3|
B. A &1 [ddR 310 & U T Udhe gidl g

C. 37 @1 YRS ART 8 : I SIS ® 8, dfad g g 1"

D. G 3R 39D difgd &1 fddR, fRIq siuiq o i &1 f[adrR Sad drdi gl

E. 3710 & YR, 3fYdac! 3fdifad gil|

14 fau e fadedt @ O Tl ST

WY

nnwp
U O
HHEo

ZPoOpw

I Led D
M

Options :

9380669177. 1
9380669178. 2
9380669179. 3
9380669180. 4

Question Number : 96 Question Id : 9380662362 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological order of the works cited below:

A. Padicatantra

B. I am Thou

C. Swaraj in Ideas
D. Hind Swaraj

Choose the correct answer from the options given below:

1.A.D,C.B
2.B,D, A,
3. DA C
4.C,B.D
Options :
9380669181. 1
9380669182. 2
9380669183. 3

9380669184. 4

C
B
A

-



Question Number : 96 Question Id : 9380662362 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A €1 713 131l 1 Ul BIAHH dd3U|

A Udda
B. 3 T GI3
C. GRS 2 S1efSard

D. fg-< TR
fid feu g fasbedl # 1 91 Sk I

» a

-

ol lvs)

fad [nJ =
-~ 0 g

5
-

»

LA C
.B A
DA, C,
4.C D,
Options :
9380669181. 1
9380669182. 2
9380669183. 3

9380669184. 4

ve)

Question Number : 97 Question Id : 9380662363 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following ideas based on chronology of their emergence

A. Moral first principles as intuitively known
B. Parable of Divided Line

C. Weakness of will

D. Goodwill as duty for the sake of duty

Choose the correct answer from the options given below:

Options :

9380669185. 1
9380669186. 2
9380669187. 3
9380669188. 4



Question Number : 97 Question Id : 9380662363 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I f3U 71U faaR] &1 39 3gd & BIIhHH IR Hdfd b3 -

A. ATUFTHS =4 Y J1d Hfdd Uy Rigid
B. 3G 1 =¥ (Iad 3Hh fSagss drgA)
C. 9 cd &l HHSRI (didb-9 3ATH fdd)

D. Hddd & el Hdd & U H Tgld

fid feu g fasbedl # 1 91 Sk I

» 2 k]

B
LA
A

iy

* 3 3

fad [nJ =
OWU N
> g ng

LA
.B
= 5
4.B
Options :

9380669185. 1
9380669186. 2

9380669187. 3
9380669188. 4

Question Number : 98 Question Id : 9380662364 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in terms of hierarchy of aesthetic joy from lower to the higher according to
K. C. Bhattacharya

A. Contemplating joy
B. Initial joy associated with an aesthetic object
C. Sympathetic joy

Choose the correct answer from the options given below:

. AB.C
2.A,.C,B
3. HOA
4.B,A. C

Options :

9380669189. 1
9380669190. 2
9380669191. 3
9380669192. 4



Question Number : 98 Question Id : 9380662364 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

& Gl YeTdr & IR YlcdRd 31-¢ ol 9! o1 ef® 9 afafad ol Fed 3 &
HHH I -

A. TR 311

B. HI¢dR® %] ¥ Uids YRS 3fFig

C. gIY[ARP 3MHg

fid feu g fasbedl # 1 91 Sk I

-

W W P P

il el
el
olrlvla)

Options :

9380669189. 1
9380669190. 2
9380669191. 3
9380669192. 4

Question Number : 99 Question Id : 9380662365 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps as ways to the realization of Saccidananda in the philosophy of Sri
Aurobindo:

A. Negation of Ascetic spiritualism
B. Principles of reconciliation
C. Negation of materialistic denial

Choose the correct answer from the options given below:

I AB.C
2.B,C.A
3. ERBA
4.C,A. B
Options :
9380669193. 1
9380669194. 2
9380669195. 3
9380669196. 4



Question Number : 99 Question Id : 9380662365 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ot 3RfdG & g H ufagHe & Uit & fafdal & g d RafeRad 9ol & 9g vd 3 39

A. R TG Bl AN
B. JHIYM & Rrgid
C. Hifd®ard! UdReaE &1 Ay

id feu g fasbedl § T Ul Sk 9

[ad 3 =

LA
.B
"
5

muurvrpn

B

C

B
4.C, A
Options :
9380669193. 1
9380669194. 2
9380669195. 3
9380669196. 4

-

Question Number : 100 Question Id : 9380662366 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find out proper progression in Husserl’s phenomenological engagement:

A. Epoché

B. Transcendental Ego
C. Life World

D. Intentionality

Choose the correct answer from the options given below:

1.A,B,C

2.A.B,D.C

3.8 CH D

4.D.AC.B
Options :

9380669197. 1
9380669198. 2
9380669199. 3
9380669200. 4



Question Number : 100 Question Id : 9380662366 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g &I Tigitd Ugid # SRId Wi J1d &1 -

A. Ul

B. UFHH{d® 3187
C. Sid ST

D. UIfHyRIdr

fid feu g fasbedl # 1 91 Sk I

WoOnC

NEOO

-

P B B
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Options :

9380669197. 1
9380669198. 2
9380669199. 3
9380669200. 4

Question Number : 101 Question Id : 9380662367 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following books in terms of their year of publication:

A. The Concept of Mind
B. Language, Truth and Logic

C. Philosophical Investigations
D. Individuals

Choose the correct answer from the options given below:

Options :

9380669201. 1
9380669202. 2
9380669203. 3
9380669204. 4



Question Number : 101 Question Id : 9380662367 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafcied gxde! &l 3d UH=H & 94 & HHHUR 39 -

B. ,CYUs
c. fraigiithed SR TTg
D. fSfdg]3rey

1 feu T fadm el & 9 T8l 3R I:
1.LA,C,B,D
2.B,A.C.D
3.C,B.D. A
4.B,C.A,D
Options :

9380669201. 1
9380669202. 2
9380669203. 3
9380669204. 4

Question Number : 102 Question Id : 9380662368 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sequence the order of the following stages for achieving an ideal society in Marxist Philosophy

A. Socialism

B. Capitalism

C. Primitive Communism
D. Feudalism

E. Communism

Choose the correct answer from the options given below:

1.A,C,B,D,E

2.B,C,D,E,A

3. 60D, B.AE

4. AR CDE
Options :

9380669205. 1
9380669206. 2
9380669207. 3
9380669208. 4



Question Number : 102 Question Id : 9380662368 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HIFHdId] G2 & YR, SR YIS &I Uit & Hafeigd 9ol & SR 39 -

A. HHMNAIG
B. Usildig
C. Al HI-dlq
D. GHddlg
E. 91&dIq

1< fau v fadedt @ € Tl ST I
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@D 0N

-
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trf td 3=

Options :

9380669205. 1
9380669206. 2
9380669207 3
9380669208. 4

Question Number : 103 Question Id : 9380662369 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following the steps of proving the valid argument: ~(A = B)/ .. A in sequence:

Al

B.

D.

~A.~B

~(A > B)

A

~(~AVB)

Bowses

Choose the correct answer from the options given below:

1.B,A,D.C,E

2.B,D.AE,C

3 ABEE.B

4.C,E.A,B.D
Options :

9380669209. 1
9380669210. 2
9380669211. 3
9380669212. 4



Question Number : 103 Question Id : 9380662369 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y G : ~ (A 5 B)/ - A g I & FHfARId IRUT S A T W -
A.—~A.~B
B. ~(A o B)
C. A
D.~(~A v B)

E. — A
4 feu g fasbedl # 1 Al Sk 9

1.B,A,D,C,E

2.B.D,AEC

3.ADLEC.B

4.C,E,A,B,D
Options :

93806692009. 1
9380669210. 2
9380669211. 3
9380669212. 4

Question Number : 104 Question Id : 9380662370 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of proving validity of an argument through truth table method?

A. Assignment of truth-value under columns

B. Deciding the numbers of rows

C. Examining the rows where there are Ts under premises and F under conclusion
D. Calculating truth-value of the premises and the conclusion

Choose the correct answer from the options given below:

Options :

9380669213. 1
9380669214. 2
9380669215. 3
9380669216. 4



Question Number : 104 Question Id : 9380662370 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g difere! [afd g bl gidd &1 derdr R &= &1 Ul hH A1 g 2

A. WY H G- HH TG
B. Uil ot AT A4iRd w=A1
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Options :

9380669213. 1
9380669214. 2
9380669215. 3
9380669216. 4

Question Number : 105 Question Id : 9380662371 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the correct order in the development of anthropocentric approach in the history of western
philosophy:

A. Man tops the pyramid of teleology
B. Man is the measure of everything

C. Man is the end in-itself

D. Man is made in the God’s own image

Choose the correct answer from the options given below:

1.B,A. D . C

2.A,B,C,D

3.AC.HB.D

4.B,C.A,D
Options :

9380669217. 1
9380669218. 2
9380669219. 3
9380669220. 4



Question Number : 105 Question Id : 9380662371 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Uil g2 & 2fdgr d aHd dfgd €Paiv & fdbrg & <ol o Ggl od § 3 -

A. T GI¢Rgdie & RIS & WY w1
B. A R vl I A g |

C. i W g g

D. U™ S4R &1 31 Bd H a5

fid feu g fasbedl # 1 91 Sk I

1.B,A.D,C

2.A,B.C,D

3.]A,C,B,D

4.B,C.A,D
Options :

9380669217. 1
9380669218. 2
9380669219. 3
9380669220. 4

Question Number : 106 Question Id : 9380662372 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the appropriate combination from the lists given below:

A. The Naiyayikas assume vyapti to be universals that are facts of reality.

B. The Naiyayikas claim that universal relations are logical and not real.

C. The Buddhist logicians regard universal propositions as ideal constructions and not real
relations.

D. For the Buddhists the universal is but a name and the identity, a fiction.

E. The Carvakas accept vyapti but negate anumana.

Choose the correct answer from the options given below:

1. A, C,D only
2.B,E.D only
3.E,D, Conly
4.B,C.E only

Options :

9380669221. 1
9380669222. 2
9380669223. 3
9380669224 4



Question Number : 106 Question Id : 9380662372 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A €1 713 Gl 9 gl ddieH &l ygdne -

A. 1S A DI GHERT (GFAE ) I g S I & A B

B. 1A gra1 Hid § fdb Y= ey dlidd g. U T8l o

C. d1G Th ARG G uiaiardl & e et amd g, 9 6 aq ddy|
D. sl & IR, MR U M H1H g 3R dlaled Uh ded-l g |

E. 14l MG &l WIHR HRd § 3R HTAM 1 {984 S 1

1< fau v fadedt @ € Tl ST I

. $dd A, C,D
2. HAd B, E. D
3. HAddE, D, C
4. ®ddB. C.E
Options :
9380669221. 1
9380669222. 2
9380669223. 3
9380669224 4

Question Number : 107 Question Id : 9380662373 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Prabhakara Mimarhsa accepts only the following categories:

A. Substance, quality, action, generality, inherence, force, similarity, number only
B. Quality, action, substance, inherence, force only

C. Number, similarity, force, inherence, generality, action, substance only

D. Action, quality, substance, generality, force only

Choose the correct answer from the options given below:

1. Aonly
2.B,D,Aonly
3.C,B.Donly
4.C,A.Donly
Options :
9380669225. 1
9380669226. 2
9380669227. 3
9380669228. 4



Question Number : 107 Question Id : 9380662373 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UIHISHR HIAT dhad HyfdRad gardl & WidhR Hdl g -

A. Had god, U1, HH, AR, HA, Uidd, ey 3R W=
B. &ad U1, U, o4, YHdr, fdd
D. Shdd &H, T[0T, sod, UHT-dI, Jfdd

fid feu g fasbedl # 1 91 Sk I

1. $Hdd A

2. HAdd B, D, A
3. Hdd C, B, D
4. HAdC,A, D

Options :

9380669225. 1
9380669226. 2
9380669227. 3
9380669228. 4

Question Number : 108 Question Id : 9380662374 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following statements follow from the fact that extension constitutes the essence
of body?

A Extension has limit

B. There is no empty space, nor bodies without atoms
C. The corporeal world 1s illimitable

D. The body has no centre

Choose the correct answer from the options given below:

1. A only
2. Aand C only
3. A, B, and D only
4. B, C, and D only
Options :
9380669229. 1
9380669230. 2
9380669231. 3
9380669232. 4



Question Number : 108 Question Id : 9380662374 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafcfad @ O &I 9 HyH 39 9 &I SHER0 didl ¢ & AR Yifdd dd &I R gldl ¢ -

A. [a5R &1 Hiar gidi 31

B. RAM]Rfgd 7 dl dig Rdd ™IH § 3R 7 Hifdd dd 5|
C. T oI7d SR B

D. Hifd® dd &I i dhg gl oldl o

fid feu g fasbedl # 1 91 Sk I

1. $dd A

2. Had A 3R C

3. Badd A, B, 3R D
4. ®Hdd B, C, IR D

Options :

9380669229. 1
9380669230. 2
9380669231. 3
9380669232. 4

Question Number : 109 Question Id : 9380662375 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Read the following statements about St. Thomas Aquinas and choose the correct statements:

A. One of the many objectives of St. Thomas Aquinas, philosophy is to negotiate Averroist
reading of Aristotle with the Christian reading

B. To prove the existence of the God was another objective

C. The 1deas of essence and existence are the same

D. If we know God’s essence, we come to know His existence

E. Aquinas also propagated the idea of evil, which 1s an essence and intentional in nature

Choose the correct answer from the options given below:

1. A, B, Conly
2. A, C,D only
3.B,C.Donly
4. B, D, E only

Options :

9380669233. 1
9380669234. 2
9380669235. 3
9380669236. 4



Question Number : 109 Question Id : 9380662375 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

He 4y U & aR J FgfeiRdd du=l ol u¢ 3R Ugl oy - -

A. YT Y10 U1 & G2 & U Ui 3634 3418 U b HIY 3R%] b SeeRadicl
U3 DI YU HRAT G|

B. 34X &1 H&Id Rig S U 319 3Ie=g UT|

C. dd 3R 34&d & [darR YHH 5

D. If& BH SR & dcd BT I ¢ ol gH 39D &ied o1 Wl A g1 &1

E. UM A 3RY & [ddR &1 Yl UaR {631, 3y Ud dd ¢ 3R S § QiU gl

fid feu g fasbedl # 1 Al Ik 9

1. HAA A, B, C
2. $Ad A, C, D
3. %4d B, C,D
4. ®HAd B, D, E

Options :

9380669233. 1
9380669234. 2
9380669235. 3
9380669236. 4

Question Number : 110 Question Id : 9380662376 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct combination of ontological positioning of $reyas and prevas with reference to
Kathopanisad:

A. Preyas over sreyas

B. Neither preyas nor sreyas

C. Equipositioning of sreyas and preyas
D. Supremacy of sSreyas over preyas

E. Inferiority of preyas to sreyas

Choose the correct answer from the options given below:

I.E,C,B only
2.A.Donly
3.C,B.A only
4. D, E only

Options :

9380669237. 1
9380669238. 2
9380669239. 3
9380669240. 4



Question Number : 110 Question Id : 9380662376 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

®HaufYE & da § 999 3R Uay &1 Ydicd Ffd &1 9l 9gieH ugdiu -

A 909 4 FWR UTY

B. A dl UGq 3R 7 999

C. 909 3R UaY &l ga Rfd
D. U4y UR 94 &1 Y&l

E:Mﬁmﬁmuﬁﬁﬂ
1< fau v fadedt @ € Tl ST I

|.HddE, C, B
2. Hadd A, D
3. Hdd C, B, A
4. ®HAAD, E
Options :
9380669237. 1
9380669238. 2
9380669239. 3
9380669240. 4

Question Number : 111 Question Id : 9380662377 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Adi Sankara, if all that exists is Braman and the world of plurality is mithya, then
there cannot be any real distinction between good and evil. Based on this, choose the correct
combination from below :

A. Because a confusion exists between reality and existence, the eternal and the temporal

B. Because a confusion that essentially imperfect and incomplete series of temporal events is
the same as the true timeless Brahman

C. The metaphysical truth of oneness of Brahman does not violate the validity of ethical
distinctions

D. If life is unreal, then moral distinctions are not valid

Choose the correct answer from the options given below:

1. B, C, D only
2.C,A.Bonly
3.A,D, C only
4.D, C,B only

Options :

9380669241. 1
9380669242. 2
9380669243. 3
9380669244. 4



Question Number : 111 Question Id : 9380662377 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3feRiar & YR, 4l o gl 9dad g, 31k b d-SiiTd e g, i YY 3R YU & &
Pl IRl e eI 8l YobdlT | 38D YR R FAfGRad oyl T el Jare 94 -

A. 1T I 3R &I, WY 3R Al & &g Y g
B.Wgw%%mwﬁwma{@ﬁ%m, U, HIcldld sigl &
THHET |
c.g@ﬂﬁ@ﬁﬁﬁﬂﬁﬁﬂi@ww:ﬂﬁw&ﬂuﬂﬁaﬁ%ﬂmﬁ MNPEERIEAG]
I
D. AfG Siid 3 g dl Afdd He a4 =gl g

-4 feu e fad et 7 4 Ul SR g

. $ddB.C.D
2. HAd C, A, B
3. HAA A, D, C
4. $HddD, C. B
Options :
9380669241. 1
9380669242. 2
9380669243. 3
9380669244 4

Question Number : 112 Question Id : 9380662378 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true of Kant?

A. Good will, according to Kant, is guided by the conditions on which man is posited

B. Good Will’s only motive is to do duty for the sake of doing its duty

C. The test of a genuine moral imperative is that I can universalize it, that I can will for a
universal law

D. However, Kant also recognizes aberrations to good will, what he called the ‘weakness of
will”

E. Therefore, according to Kant, hypothetical imperative is categorical imperative

Choose the correct answer from the options given below:

1. A. B only
2.B, C only
3. C, D only
4. D, E only
Options :
9380669245. 1
9380669246. 2
9380669247. 3
9380669248. 4



Question Number : 112 Question Id : 9380662378 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Die & HURId YA H A DA T HYT TA © -

A. Bl & IR, YH-Hhed 3 FRufaal gr1 MR gid1 & {58 7% &1 a1 Wi |

B. YY-Hdb el I ThHH 353 30 o o (¢l Do HAI g

C. ¥ A G 1 HUIC] g ¢ [ H sHD AHEDH HR Gohdl g, J 39D GH-
70 994 & foiT ddhed HR AT G|

D.Wﬂ?ﬁﬂ”—ﬁﬁﬁﬁﬁ@ﬂﬁﬁﬂﬁﬁ%ﬂﬂﬁﬁﬁﬁﬁ@ﬁﬁw
Fel gl

E. dic & YR, U0 31 (AU e

4 feu g fasbedl # T Ul SR I

1. $Ad A, B
2. HAdA B, C
3. ®dd C, D
4. HddD, E

Options :

9380669245. 1
9380669246. 2
9380669247. 3
9380669248. 4

Question Number : 113 Question Id : 9380662379 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true of Rabindranath Tagore?

A. Rabindranath Tagore is often described as a mystic

B. His mysticism is well amalgamated with his nationalist ethos

C. He accepted two aspects of the self - the physical and the spiritual

D. According to Tagore, man’s individual peculiarities are the aspects of his finite self and his
universal nature is the infinite aspect of his personality

Choose the correct answer from the options given below:

1. A, B, C only
2. A, B, D only
3.A.C,D only
4.B,C.Donly
Options :
9380669249. 1
9380669250. 2
9380669251. 3
9380669252. 4



Question Number : 113 Question Id : 9380662379 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g TR & aR H PR d T e H A Y4 Td g 2

A. Tel=ATY CTIR &l UY: TgRdiel & U ¥ aftfd fdbar Sirdr g

B. 3701 T6HAIG APAIC] DRI & 91y GHd |

C. 3G 3T & &l Uggafl - Hifdd 3R 3efdd o WieR fHar gl

D. SR & 3[R, A% &I dafads ARy 39d Hiffd siidl & Ugq g iR U]
G Ui IS Hidkdd DI SHIHd Ugd gl

1< fau v fadedt @ € Tl ST I

. $Ad A, B, C
2. HAd A, B, D
3. Hdd A, C.D
4. ®HAd B, C.D
Options :
9380669249. 1
9380669250. 2
9380669251. 3
9380669252. 4

Question Number : 114 Question Id : 9380662380 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Read the following statements carefully:

A. In the ‘Parable of the Cave’, Plato highlights the necessity of the human life to be guided by
the idea of transcendental knowledge

B. Aristotle critiques Plato for his inability to account for the diversity of uses of good

C. For Aristotle, therefore, there is no distinction between different types of actions, whether
guided by reason, will, or weakness of will

D. On the other hand, for Epicurus, virtue is simply the art of pleasure

E. However, Stoics ultimately aim at withdrawal from public life and leading towards ethical
solipsism

Choose the correct answer from the options given below:

1. A, B, C only
2. A, B, D only
3.A.B,D,Eonly
4.B. D, E only

Options :

9380669253. 1
9380669254. 2
9380669255. 3
9380669256. 4



Question Number : 114 Question Id : 9380662380 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Fafafad oyl &1 @Hyds ug -

A. BT & €8 § Wil 39 WR YHIR STald § &l JFd St &l Hadhdl Ul
& faaR gRT AR gl 9ifgul

B. 3K, WIcl B A HRd g i Tiel - 9% & (i STanT R & g1 [Ga1 g1

C. 3YUIIU 3R & YR, fafia UBR &1 fbarsil & oI als Ug gl g dlg, d dh, Ydbed
g1 Yhed Bl HHSIRT Y URd &l |

D. G 3R, UURTY & AR WUl 71 YO & Hal g

E,aﬁiﬂ%ﬁgwim,mm@ﬁmﬁﬁeﬂaﬁﬁmmwmaﬁ

CERIN

4 fau v fasedt 9§ € T8l S|

. Hdd A, B, C

2. HAdd A, B, D

3. Hdd A, B, D, E

4. Hdd B, D, E
Options :
9380669253. 1
9380669254 2
9380669255. 3
9380669256. 4




Question Number : 115 Question Id : 9380662381 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following statements are true of J.S. Mill?

A. 1.S. Mill abandons the view that the comparison among pleasures is or can be purely
quantitative.

B. He , however, makes no distinction between higher and lower pleasures.

C. Therefore, all pleasures are qualitatively same.

D. Ultimate objective of Mill was to bring all the objects and goals of human desires under a
single concept, of pleasure.

E. He treats pleasure as a unitary concept.

Choose the correct answer from the options given below:

1. A, B, C only
2. A, C,Donly
3.A,D,E only
4.B. D, E only
Options :
9380669257. 1
9380669258. 2
9380669259. 3
9380669260. 4

Question Number : 115 Question Id : 9380662381 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oL . A d IR E HERd A A s H Y hyI9d 6 -

A. ol 0. 15d A 39 [99R &1 WS [6d1 & [aiE UBR & e & gaH1 oAl [a3G &4
I GRHTES § T8l Thdl 6

B. gldiid, dg 3= 3R YR 3iHe & did Ig Hg gl dd g
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D. T1d &1 3ifaH 3530 AFd g=3131 & T I=AT 3R A&l & 3MHg &I Uhd ATYRU Bl
SISURECIEIRIN

E. 98 3G &l UhIHD HTURT HHI ¢ |

4 fau v fasedt # ¥ Tgl S

I.HAd A, B, C
2. HAd A, C, D
3. $IAd A, D, E
4. HddB, D, E

Options :

9380669257. 1
9380669258. 2
9380669259. 3
9380669260. 4




Question Number : 116 Question Id : 9380662382 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct combination of the statements from those given below:

A. M K. Gandhi was deeply influenced by Tolstoy’s The Kingdom of God is within You as new
interpretation of Christianity.

B. Gandhi’s religious orientation was deeply influenced by Vaisnava ethos.

C. When Gandhi explains the notion ‘God is Truth’, his idea of truth is oriented towards the
truth of the mundane reality.

D. According to Gandhi, ahimsa and truth are intertwined, and are like two sides of a coin.
E. Gandhi derived the idea of ahimsa from the traditional worldview of MImamsa.

Choose the correct answer from the options given below:

1. A, B, C only
2. A, B, D only
3.A,C,Donly
4.B,.C,Donly
Options :
9380669261. 1
9380669262. 2
9380669263. 3
9380669264. 4



Question Number : 116 Question Id : 9380662382 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 feu 1u Byl § 9 Ul dyHl ol g g -

A.TH. &, T 391 o DI T8 AR & FU H eleiel & < [hiregH b TS 39 fafa
Y 3t gHIfaa 9 |
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Yl
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E. et 1 3ifgqr &1 faarR A & IR fay faar 9 ura faan

-4 feu e fad et 7 4 Ul SR g

. $AAd A, B, C
2. HAd A, B, D
3. HAd A, C, D
4. Hdd B, C,D

Options :

9380669261. 1
9380669262. 2
9380669263. 3
9380669264. 4

Question Number : 117 Question Id : 9380662383 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the followings are true about existentialism?

A. Tt theorizes the nature of pure ego.

B. It prioritizes existence over essence.

C. It rejects the possibility of freedom in human life.
D. It revolts against speculative philosophy.

Choose the correct answer from the options given below:

1. B, D only
2. A, B, Conly
3. A, B only
4. A, Conly

Options :

9380669265. 1
9380669266. 2
9380669267. 3
9380669268. 4



Question Number : 117 Question Id : 9380662383 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3fEdadic SR H FgiRad H d A U HYT dd ¢ -

A. T8 O3 3 &1 U (d &l J<ifds SU gl

B. 48 IR W Rddd &l Urdfadl Sl ol

C. Ug HIFd Silgd H WdAdl Bl SHIGAT Dl 3RAIDR Bl g |
D. U8 URGAIHD GRIH BI [aR0e HT g |

fid feu g fasbedl # 1 91 Sk I

1. $dd B, D
2. HAA A, B, C
3. HAd A, B
4. HAd A, C

Options :

9380669265. 1
9380669266. 2
9380669267. 3
9380669268. 4

Question Number : 118 Question Id : 9380662384 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following have refuted idealism?

A. Russell

B. Berkeley

C. G. E. Moore
D. H.P. Grice

Choose the correct answer from the options given below:

1. A. D only
2.B, C only
3. B, D only
4. A, Conly

Options :

9380669269. 1
9380669270. 2
9380669271. 3
9380669272. 4



Question Number : 118 Question Id : 9380662384 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad § U fha- snezidig & SRdieR fdhar 2

A. A

B. 9bal

C.oLE. IR
D.Ud. Ul 9129

fid feu g fasbedl # 1 91 Sk I

. $IAd A, D
2. HAdd B, C
3. $dd B, D
4. HAd A, C

Options :

9380669269. 1
9380669270. 2
9380669271. 3
9380669272. 4

Question Number : 119 Question Id : 9380662385 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following combinations constitute the principle of Nitisara of Kamandaki?

A. Theories of social order

B. Structure of the state

C. Inter-state relationship

D. Detailed internal administration
E. Criminal law

Choose the correct answer from the options given below:

1. A, B, C only
2. A,B,Donly
3.A,C,Donly
4. B, D, E only
Options :
9380669273. 1
9380669274. 2
9380669275. 3
9380669276. 4



Question Number : 119 Question Id : 9380662385 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DHaD] Bl IR &I Rigid Fgfafad & U fbad ffas a1 ¢ 2

A. JHINSG TaR &1 Rgid
B. Iod &I G

C. 3R - I gdy

D. faxgd 3mdRa u=ma-

E. <3 fafg

1< fau v fadedt @ € Tl ST I

. $Ad A, B, C
2. HAd A, B, D
3. Hdd A, C.D
4. HAd B, D, E
Options :
9380669273. 1
9380669274. 2
9380669275. 3
9380669276. 4

Question Number : 120 Question Id : 9380662386 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following are the four purposes of Dandaniti?

A. Acquisition of the unacquired
B. preservation of the acquired

C. Augmentation of the preserved
D. Distribution of the augmented
E. Taxation on the distributed

Choose the correct answer from the options given below:

Options :

9380669277. 1
9380669278. 2
9380669279. 3
9380669280. 4



Question Number : 120 Question Id : 9380662386 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFafefad # 4 e A dsHifd & IR aieH § 2

A. 3FTETEd BT TG HRAT|
B. EFTEId BT GRRET DT
C. URUferd &1 Gaeg ST

D. Yafefd &1 fqaRur deAm

E. fadivd @R & ar

1< fau v fadedt @ € Tl ST I

1.Bdd A, B,C, D
2. HAad A, C,D, E
3. $ddB,C,D,E
4. $9dB,D,E, A

Options :

9380669277. 1
9380669278. 2
9380669279. 3
9380669280. 4

Question Number : 121 Question Id : 9380662387 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following statements are true about social contract theory?

A. The state of nature was gloomy, nasty and dark
B. The state existed before the state of nature

C. The state is the result of a hypothetical agreement
D. The state was created by God

E. There was no rights in the state of nature

Choose the correct answer from the options given below:

1. A, D only

2. A, Conly

3.B,E only

4. A, B, Conly
Options :
9380669281. 1
9380669282. 2
9380669283. 3
9380669284. 4



Question Number : 121 Question Id : 9380662387 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tl 3y Rigid & TR § Rafdfad d d o A Hy4 9d g 2

A. “Upid BT g1 faureyul, foHT 3R bRy i
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1< fau v fadedt @ € Tl ST I

|.Hdd A, D

2. HAT A, C

3. $Hdd B, E

4. HAA A, B, C
Options :
9380669281. 1
9380669282. 2
9380669283. 3
9380669284. 4

Question Number : 122 Question Id : 9380662388 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following activities best characterizes the “ethics of care’ according to Carol
Gilligan?

A. Learning moral principles

B. Developing moral dispositions

C. Solving moral problems by application of universal principles
D. Seeking contextual responses

E. Attending to responsibilities and relationships

Choose the correct answer from the options given below:

1.A B, C,Donly
2.B,C.D.E only
3.B,D,Eonly
4.A.C,Donly

Options :

9380669285. 1
9380669286. 2
9380669287. 3
9380669288. 4



Question Number : 122 Question Id : 9380662388 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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fid feu g fasbedl # 1 Al Ik 9

1.HAd A, B,C, D
2. $IdB,C, D, E
3. %4d B, D, E
4. ®HAAA. C,D

Options :

9380669285. 1
9380669286. 2
9380669287. 3
9380669288. 4




Question Number : 123 Question Id : 9380662389 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following propositions are tautologies?
A~(A=~A)
B.A=(BvA)
C.A>S(AvB)

D.(BoA)>(A>B)

Choose the correct answer from the options given below:

1. A, Bonly
2.B, C only
3.A,C only
4. C, D only

Options :

9380669289. 1
9380669290. 2
9380669291. 3
9380669292. 4



Question Number : 123 Question Id : 9380662389 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fafoiad # 9 @i @t il grefdai ¢ 2
A~(A=~A)
BA=(BvA)
C.A>D(AvB)

D.(BoA)>(A>B)

i< fau e fadedt @ ¥ Ogl S

I. dd A, B
2. $ad B, C
3. BHdd A, C
4. HAAC, D

Options :

9380669289. 1
9380669290. 2
9380669291. 3
9380669292. 4

Question Number : 124 Question Id : 9380662390 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which are the restrictions of the rule of Universal Generalisation(UG)?

A. There are no restriction on UG.

B. An UG must not be done to an individual constant.

C. An UG cannot be done to a variable under an assumption.

D. An UG must not be done on a quasi variable in a line that is justified by Existential
Instantiation ( EI ).

Choose the correct answer from the options given below:

l. A only

2.B, C only

3.B,C.Donly

4. C,D only
Options :
9380669293. 1
9380669294. 2
9380669295. 3
9380669296. 4



Question Number : 124 Question Id : 9380662390 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1< fau v fadedt @ € Tl ST I

|.had A

2. HAdA B, C

3. $Hdd B, C.D

4. ®HAAC, D
Options :
9380669293. 1
9380669294. 2
9380669295. 3
9380669296. 4

Question Number : 125 Question Id : 9380662391 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the followings are true in regard to the relationship between law and morality?

A. Moral principles are dependent on legal principles.

B. Moral principles are independent of legal principles.

C. Legal principles are necessarily moral principles.

D. Moral principles with legal sanctions turns to be legal principles.

Choose the correct answer from the options given below:

1. A, Conly
2. B, D only
3.A.C,D only
4. A, B, Conly
Options :
9380669297. 1
9380669298. 2
9380669299. 3
9380669300. 4



Question Number : 125 Question Id : 9380662391 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faff) (@) 3R Adbdl & old Yo & IR F FEfERgd d 9 &9 9 Y 9d g 2

A. Afae figid 3t Rigial w 2nf3d g B
B. Afd® Rigid faf¥e Rgial 4 Wda gid g
c. faft® Rigid aria: afds Rgidgild g |

D. faf¥ie dedigfa i & Try Afds Rigid fafts Rigid 94 51d g1
fid feu g fasbedl # 1 91 Sk I

. PAA A, C
2. Hdd B, D
3. HAd A, C,D
4. HAdd A, B, C

Options :

9380669297. 1
9380669298. 2
9380669299. 3
9380669300. 4

Question Number : 126 Question Id : 9380662392 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-1 LIST-IT
A.| Yusmad-Asmad- pratvaya- gocara I. |Nyayasutra, Gotama
Samyagjiiana-purvika-purusartham- ” e w5 i
B. e el wipedenr II. | Vedantaparibhasa, Dharmaraja Adhvarin
C.| Brahma-bhinnam- sarvam-mithya II1. [ Nyayabindu, Dharmakirti
D. Ina’rzf'u'arrhc.?m e IV. | Brahma-sitra- Samkara-Bhasyar
pratvaksarit

Choose the correct answer from the options given below:

l.A-
2.A-
3.A-
4. A—

Options :

IVB-IIC-IID-1I
IB-MC-IVD-II
IVB-IC-IID-1III
MB-IIC-ID-1IV

9380669301. 1
9380669302. 2
9380669303. 3
9380669304. 4




Question Number : 126 Question Id : 9380662392 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

Hel-1 11
A.|gwg - 3G U MR L | Ty, M
B. | GragH ufder geurein faedifa I1. |deid TRHTST, YFRTST 3feaTiRA
C. | st e gdy fiyean 1L | g foig, o Difc
D. | iy Ay e I Tg&H IV. | 5181 3- AU
- feu T fadett H 9§ At SR Pl 99 Difo -

lL.A-IVB-IIC-IID-1I
22A-IB-NIC-IVD-1II
3JA-IVB-IC-IID-1III
4 A-TMIB-IMIC-ID-1IV

Options :

9380669301. 1

9380669302. 2

9380669303. 3

9380669304. 4

Question Number : 127 Question Id : 9380662393 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LIST-I LIST-II
A.[Parmenides I. |Nous

B.| Anaximander II. |Logos
C.|Heraclitus III. | Being
D.|Anaxagoras IV. [ Apeiron

Choose the correct answer from the options given below:

lLA-IB-MMIC-IVD-II
2ZA-MB-IVC-1IID-1I
JJA-TMIB-IC-IVD-II
4 A-IB-IIC-IVD-1I

Options :

9380669305. 1

9380669306. 2

9380669307 3

9380669308. 4



Question Number : 127 Question Id : 9380662393 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

et eI
A [ REAESH L |39
B.| 3HaHHER IL | AT
C.|gufdeiey 0L | ST
D. | 3HFIRY IV. |TORM
id faU 7T f[ddhedl # 1§ gl IR &1 99+ DifolL ;

l.A-IB-IIC-IVD-1I

22A-TMMIB-IVC-IID -1
3.3A-MIB-IC-IVD-1I

4 A-IB-IIC-IVD-1II

Options :

9380669305. 1
9380669306. 2
9380669307. 3
9380669308. 4




Question Number : 128 Question Id : 9380662394 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-II

Conscience is our own opinion, of our

A. . p ’ I. |Berkeley
own actions
All we see, hear and feel 1s but a

B. ' II. | Locke
phantom
Religions are anything but sick men’s

2N i ything 1. | Kant
dream
If there 1s no God, we should have to

D.J]. IV.|Hume
invent one

Choose the correct answer from the options given below:

l.A-IB-IIC-IVD-III
2A-IIB-IC-IVD-III
3JA-MB-IIC-1ID-1IV
4 A-IVB-IC-IIID-1I

Options :

9380669309. 1

9380669310. 2

9380669311. 3

9380669312. 4



Question Number : 128 Question Id : 9380662394 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

1 10

" gﬁ:wsﬂﬁﬁﬂﬁmﬁeﬁmﬂﬂ ¢ e

B9 Sl 3, G 3R Hequ Hd ©, y
B. %Wﬁ?m%}l IL. |l
5 %gﬂlﬂwwﬁr%mﬁ%ﬁaww it |t

g DIg SR Te1 5, A GHUD SR DI |
D-| ferspIR e ST IV.|ggH

+d faU 71T fdd el § U Ul IR &1 98- Dol ;

lL.A-IB-IIC-IVD-III
2A-IB-IC-IVD-III
3JA-IMIB-IIC-ID-IV
4 A-IVB-IC-MMID-1I

Options :

9380669309. 1
9380669310. 2
9380669311. 3
9380669312. 4



Question Number : 129 Question Id : 9380662395 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-1 LIST-IT
A.|Ethical Egoism I. [ Auguste Comte
B.| Altruism II. | Immanuel Kant
C.|Ethical universalism ITI.[R. M. Hare
D.|Non-cognitivism IV.|Henry Sidgwick

Choose the correct answer from the options given below:

l.A-TMIB-IVC-ID-1II
2ZA-MMB-IVC-IID-1I
3JA-IIB-NMIC-IVD-I
4 A-IVB-IC-IID-1I

Options :

9380669313. 1

9380669314. 2

9380669315. 3

9380669316. 4

Question Number : 129 Question Id : 9380662395 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Geil-11 D1 e i

L I
A.| e @i (Tied giigs) I | 3IRE BIe
B.| RIUGRAIG (3fcdgoH) IL. |Seig3id dic
s wrdifedarg (URied
.| qfareifersH I | 3R, g4
D. | 3{HIFAIETg (A - HIACTISH ) IV. [ [ygeridd

i 13U U f[qdedl § U Ul 3wk &1 94 Dol -

lLA-MIB-IVC-ID-1I
2A-NIMIB-IVC-IID -1
3A-IB-INIC-IVD-I
4 A-IVB-IC-IID-1I

Options :

9380669313. 1
9380669314. 2
9380669315. 3
9380669316. 4



Question Number : 130 Question Id : 9380662396 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-1 LIST-II

To maintain social order and ensure

A.|Deterrent Theory of Punishment L = ;
o absence of crime in the society

To stop others from committing similar

B. | Retributive Theory of Punishment IL| -
crimes
C.|Reformative Theory of Punishment III Tytetinithe sane guantaniof haon
| g "linflicted by the convict
D.|Preventive Theory of Punishment IV. To seaprove (aemundsetiol iy conict

and ensure rightful thinking

Choose the correct answer from the options given below:

lL.A-IB-MMIC-IVD-I
2A-IB-IIC-IID-1IV
3JA-MB-IC-IVD-1I
4 A-IB-IMIC-IVD-1II

Options :

9380669317. 1

9380669318. 2

9380669319. 3

9380669320. 4



Question Number : 130 Question Id : 9380662396 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1 & 1Y GEl-11 BT T S

L -1
AT R IHIT TG 3R A H
A.[FaR® ¢ Ry L | SRty Y SRURA PRT o &
feTy
B. | UfddRl &3 Rsid I ﬁ?%?waﬂmﬂmﬁ
C.| gURTES &3 fsid III. ;&gﬂ‘%ﬂmﬁjqwz a;ﬂélwg':ﬁw
D.|fRiy® &3 fsid V. %?;{ﬁﬁm{_ @gﬂ&m SR el
i feu T fadetl # 9 9t SR &1 99 DI -

lLA-IIB-MMIC-IVD-1I
22A-IB-IIC-IMID-IV
3JA-MMB-IC-IVD-1I
4 A-IB-MMIC-IVD-1II

Options :

9380669317. 1

9380669318. 2

9380669319. 3

9380669320. 4




Question Number : 131 Question Id : 9380662397 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-I LIST-IT
A.|Savitri I. |Sir Mohammad Igbal
B.| Assar-e-Khudi II. |M. N. Roy
C.|Science and Philosophy IIL. | B. R. Ambedkar
D.|Riddles in Hinduism IV. | Sri Aurobindo

Choose the correct answer from the options given below:

lLA-IVB-IIC-IIID-1I
22A-IB-NIC-IVD-1I
3JA-IB-NIIC-IVD-III
4 A-IVB-IC-IID-1I

Options :

9380669321. 1

9380669322. 2

9380669323. 3

9380669324. 4

Question Number : 131 Question Id : 9380662397 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Geil-11 D1 e i

-1 ai
A. | arfe I |ER HIgHE Shald
B. |3 - U-ddl IL |UH. 4.3
C.| g ts fharamt 1L | &, 3R, s
D.| e 3 feggon 1v. | 41 3Rfsal
Id feu Y fadetl & 9 Il SR &1 98- Hifore ;

lL.A-IVB-IIC-IIID-1I
22A-IB-NMIC-IVD-II
3JA-IB-IIC-IVD-III
4 A-IVB-IC-IID-1II

Options :

9380669321. 1

9380669322. 2

9380669323. 3

9380669324. 4



Question Number : 132 Question Id : 9380662398 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-1 LIST-IT
A.|Satyasodhak Samaj I. |Santh Kabi Bhima Bhoi
B.| Vaikom Satyagraha II. | Jyotiba Phule
C.|Mahima Dharma III. | Swami Dayananda Saraswati
D. | Traitavada IV. [Narayana Guru

Choose the correct answer from the options given below:

l.LA-IB-IIC-IVD-III
2Z2A-IB-NIC-IID-1IV
3JA-IIB-IC-IVD-III
4 A-IB-IVC-ID-1I

Options :

9380669325. 1

9380669326. 2

9380669327. 3

9380669328. 4

Question Number : 132 Question Id : 9380662398 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Geil-11 D1 e i

T 11
A | TITSS GHN L |Hd &id i i
B.|ddbH g 1L [Hifaer pa
c.|afgar «d II1. | S&THT g Tl
D.|3darg IV. [ARME TS
AId fGU T fadeui & © IEt SR &1 98 Hifolu -

lL.A-IB-IIC-IVD-1I
22A-IB-INIC-TID-1IV
3JA-IIB-IC-IVD-III
4 A-IB-IVC-ID-1II

Options :

9380669325. 1

9380669326. 2

9380669327. 3

9380669328. 4



Question Number : 133 Question Id : 9380662399 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-IT

LIST-1 LIST-IT
A.|Gilbert Ryle I. |Definite Description
B.|Bertrand Russell II. |Dogma of Empiricism
C.|W. V. O. Quine III. | Descriptive Metaphysics
D.|P.F. Strawson IV. | Ghost in the machine

Choose the correct answer from the options given below:

l.LA-IB-IIIC-IVD-1II
2Z2A-IIB-IC-IMIID-1IV
3JA-IVB-IC-IID-1III
4 A-MIB-1C-IVD-1II

Options :

9380669329. 1

9380669330. 2

9380669331. 3

9380669332. 4

Question Number : 133 Question Id : 9380662399 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Geil-11 D1 e i

L 24
A |feaé za 1. |Sfthfe SferwH
B.|SRJS Wd I1. | 1T 3iT TrRResH
C.| gy, dl. 3fl. PIg I11. | $f&piPd Herfthioiay
D.|d. U%. WiatH IV. (91 31 & 7=
- feu 7T faed! # ¥ Ul SR BT 90 HifSie -

lL.A-IB-MMIC-IVD-II
22A-IIB-IC-IID-1IV
3JA-IVB-IC-IID-1III
4 A-TMIB-IC-IVD-1II

Options :

9380669329. 1

9380669330. 2

9380669331. 3

9380669332. 4



Question Number : 134 Question Id : 9380662400 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-1 LIST-IT
A.|Being and Time I. |Franz Brentano
B. | Being and Nothingness II. | Martin Heidegger
C.| Otherwise than Being III. | Jean-Paul Sartre
D g}ij;iievemf Senses of Being in v | Immanuel Levinas

Choose the correct answer from the options given below:

L. A-IIB-MC-IVD-I
2.A-NMB-IVC-ID-II
3A-IB-TMIC-ID-IV
4 A-MB-IVC-IID-1I

Options :

9380669333. 1
9380669334. 2
9380669335. 3
9380669336. 4

Question Number : 134 Question Id : 9380662400 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Geil-11 D1 e i

LG -1
A |dEn s ey L |Thel el
B.|dIg7 Us Ay IL | {1 B3R
C.| AR ¢ dig 1L | Sif-uTet 9
SRR LI R W) E—"
i 13U U f[qdedl § U Ul 3wk &1 94 Dol -

lLA-NOB-INC-IVD-I
2A-IMIB-IVC-ID-1I
3A-IB-NIC-ID-1IV
4 A-MMIB-IVC-IID-1I

Options :

9380669333. 1
9380669334. 2
9380669335. 3
9380669336. 4



Question Number : 135 Question Id : 9380662401 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LIST-I LIST-II
A.|Saam I. |Gift
B.|Daam II. | Division
C.|Danda III. | Persuasion
D.|Bheda IV.|Force

Choose the correct answer from the options given below:

lLA-IB-IIC-IID -1V
2ZA-IB-IVC-IIID-1I
JA-IIB-NMIC-IVD-I
4 A-TMIB-1IC-IVD-1II

Options :

9380669337. 1

9380669338. 2

9380669339. 3

9380669340. 4

Question Number : 135 Question Id : 9380662401 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

-1 & 1Y i1 D1 e i

LI g
A.|9M I [3UER
B.|gH I1. | fayreE
C.|eus 0. | 3
D.|Hg V. |dd
HId faU 7T fadhel # § gl IR BT 99 Hifolg ;

lL.A-IB-IIC-IIID -1V
22A-IB-IVC-IIID-1II
3J.JA-IIB-IMIC-IVD-I
4 A-MMIB-IC-IVD-1II

Options :

9380669337. 1

9380669338. 2

9380669339. 3

9380669340. 4



Question Number : 136 Question Id : 9380662402 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-1 LIST-1T
A.|Justice as shaped by free market I. |Multiculturalism
B. | Justice as to affirm group identity II. | Communitarianism
C. | Justice as entitlement III. [ Liberalism
D. | Justice as shared understanding IV. |Libertarianism

Choose the correct answer from the options given below:

lL.LA-IB-IIC-IIID-1IV
2Z2A-MB-IIC-ID-1IV
3JA-IVB-IC-IIID-1I
4 A-IVB-IIC-ID-1I

Options :

9380669341. 1

9380669342. 2

9380669343. 3

9380669344. 4

Question Number : 136 Question Id : 9380662402 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y Geil-11 D1 e i

L T

A | gad SR gRT ARG EUH - | 1 |Sgdepidare

B. ;’i@ﬁﬂﬁ%ﬂ?ﬂ%ﬂﬁ&ﬂg@ﬂﬂﬁ% I |gYGEdiG

C.|aldgh &Y IIL [ 3GRATG

D.| A IR A =T H IV. | S8 RAIGA4IG
i 13U U f[qdedl § U Ul 3wk &1 94 Dol -

lLA-IB-IIC-TID-1IV
2A-IMIB-IIC-ID-1IV
3 A-IVB-IC-IIID-1II
4 A-IVB-IIC-ID-1I

Options :

9380669341. 1
9380669342. 2
9380669343. 3
9380669344. 4



Question Number : 137 Question Id : 9380662403 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-1 LIST-IT
A.|A4 Theory of Justice I. |Robert Nozick
B.| The Idea of Justice II. | John Rawls
C.|Liberalism and the Limits of Justice III. | Amartya Sen
D.|Anarchy State and Utopia IV. | Michael Sandel

Choose the correct answer from the options given below:

lL.A-IB-IIC-IVD-III
2ZA-IIB-MIC-IVD-I
3JA-IIB-NMIC-ID-IV
4 A-TMIB-IIC-ID-1V

Options :

9380669345. 1

9380669346. 2

9380669347. 3

9380669348. 4

Question Number : 137 Question Id : 9380662403 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y11 & 1Y i1 o1 e i

LI a1
A.|T AR 316 SRy 1 [J7e¢ AifSTa
B.|< angfsar ¢ife Wiy IL |S ™
C. | fersRfersH Us < fafficy offp Sifey (1L | e I
D.| T, T Us gelfuan V. [AgdHd dad
+id faU 7T f[ddheyl # § Ul IR BT 99+ Hifolg ;

l.A-IB-IIC-IVD-III
22A-TIB-MC-IVD-I
33JA-IIB-NMIC-ID-IV
4 A-MIB-IIC-ID-1V

Options :

9380669345. 1

9380669346. 2

9380669347. 3

9380669348. 4



Question Number : 138 Question Id : 9380662404 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-I LIST-II
A.| Absorption LIp> (q =) }") = (p Q) =
B.|Exportation IL | P O (. therefore P (p q)
C.|Material Implication .| poqg=~q op
D. | Contraposition wipoOqgq=~pv(g

Choose the correct answer from the options given below:

lLA-IB-IC-IVD-1I
2Z2A-IIB-MIC-ID-1IV
JJA-TIMIB-IVC-IID-1
4 A-IIB-1C-IVD-1II

Options :

9380669349. 1

9380669350. 2

9380669351. 3

9380669352. 4




Question Number : 138 Question Id : 9380662404 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

LI eI
A.| 3HeH I.pz(q::-r)z(p.q)zr
B.|faiaqg IL|p > q,thereforep ) (pq)
C. | dxdTId 3ila-d oL\ pogqg=~qop
D.|ufquRada | pODgE~pvyg
Hid fT U fadmetl & O Ul SR &l 99 Sl ;

1. A-IB-NIC-IVD-II

2A-IB-INIC-ID-1IV
3JA-IMIB-IVC-IID -1

4 A-IB-IC-IVD-1III

Options :

9380669349. 1
9380669350. 2
9380669351. 3
9380669352. 4

Question Number : 139 Question Id : 9380662405 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-I with LIST-II

LIST-1 LIST-IT
A.|Leibnitz Truth Table
B.| Godel II. |Quantifier
C.| Wittgenstein III. | Incompleteness Theorems
D.|Russell IV. [Universal Calculus

Choose the correct answer from the options given below:

l.LA-IB-MIC-IVD-II
2.A—
3.A-
4 A-IVB-IIC-ID-1II

Options :

IB-IVC-IIID-1I
NB-IC-IVD-1I

9380669353. 1
9380669354. 2
9380669355. 3
9380669356. 4




Question Number : 139 Question Id : 9380662405 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

T g1
N IECRI I [TYded
B.|Tad 1L |SifchrR
C.|faeiierg IIL | §-h RAc Y 2R
p. | IV. | gfa¥d b ad
i T U fametl § 1 Ul 3R &l 99+ Difolg :
[ A=-TB-MIC=IVD-1
2.A-IB-IVC-MID-I
3.4-IHB-_1C-IWD.-1
4. A-IVB-NIC-ID-II
Options :

9380669353. 1
9380669354. 2
9380669355. 3
9380669356. 4

Question Number : 140 Question Id : 9380662406 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match the LIST-T with LIST-II

LISTI LIST-II
A.| Albert Schweitzer I. | Gaia Hypothesis
B.|Leopold II. | Deep Ecology
C.|Levelock II1. | Land Ethics

D.| Arne Naess IV. [Reverence for Life

Choose the correct answer from the options given below:

l. A—
2.A—
3.A-
4. A—

Options :

IVB-IIC-ID-TIII
IVB-LNIC-ID-II
IB-NMIC-IVD-I
NB-IVC-1ID-1I

9380669357. 1
9380669358. 2
9380669359. 3
9380669360. 4




Question Number : 140 Question Id : 9380662406 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y1 & 1Y 11 BT T Hifig:

LI 11
A.| 3cad fgeoR L |1 gIEUIURy
B.|fergiuies WAIPECARIS]
C.|ciadie 1L | ©iUS Uiy
D.|3m a9 IV. | YT BR d5h
A feU U fad el T 9§ Tgl IOk &1 99 DifoIU -
[ A=~IVB-IIC=ID -1
2.A-IVB-IIC-ID-II

3JA-IIB-IIC-IVD-1
4 A-IB-IVC-ID-1II
Options :
9380669357. 1
9380669358. 2
9380669359. 3
9380669360. 4
Sub-Section Number : 2

Sub-Section Id : 938066101
Question Shuffling Allowed : No



Question Id : 9380662407 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Read the following passage carefully and answer the following questions based on the passage:

“ It being an established fact that the object and the subject, that are fit to be the contents of the
concepts ‘“vou’ and ‘we’, and are by nature as contradictory as light and darkness, cannot
logically have any identity, it follows that their attribution can have it still less. Accordingly the
superimposition of the object, referable through the concept ‘you’, and its attributes on the
subject that is conscious by nature and is referable through the concept “we’ and contrariwise the
superimposition of the subject and its attributes on the object should be impossible. (Adi
Samkaracharya, Brahmasiitrabhasya)

Sub questions

Question Number : 141 Question Id : 9380662408 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The concepts “You’ and “We’:

1. Are appositional
2. Are contradictory in a metaphorical sense
3. Can have No logical identity
4. Are In their attributes, not different
Options :
9380669361. 1
9380669362. 2
9380669363. 3
9380669364. 4

Question Number : 142 Question Id : 9380662409 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The “Object’ and ‘Subject” are referable to :

1. “You’ and ‘We’
2. *‘Asmad’ and ‘Yusmad’
3. “Atman’ and ‘Anatman’
4. Two conscious entities
Options :
9380669365. 1
9380669366. 2
9380669367. 3
9380669368. 4

Question Number : 143 Question Id : 9380662410 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks :



The superimposition of the “Object’ on to the *Subject’ and vice versa is :

1. Logically possible but ontologically impossible
2. Logically and ontologically possible
3. Logically impossible but ontologically possible
4. Logically as well as ontologically impossible
Options :
9380669369. 1
9380669370. 2
9380669371. 3
9380669372. 4

Question Number : 144 Question Id : 9380662411 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Superimposition means :

1. Seeing an entity as something else
2. Cognizing a thing- as- it- is
3. Seeing an entity as partially true and partially false
4. Cognizing an entity as neither true nor false
Options :
9380669373. 1
9380669374. 2
9380669375. 3
9380669376. 4

Question Number : 145 Question Id : 9380662412 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Superimposition’ renders both the subject and the object:

1. As a fact
2. As avalue
3. As a linguistic fiction
4. Into the subject as the only true and conscious reality
Options :
9380669377. 1
9380669378. 2
9380669379. 3
9380669380. 4



Question Id : 9380662407 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

i fau Tu iR & HHYdP U¢ 3R 3D YR TR 34D id [GU T Ul & IR ¢ -

g U WY 724 g fob Sl 9% 3R fdwg gm0 3R g0 &1 YR DI f[avgad §-H &
Tolu IUgad g, 3R WIHTdd U Y USRI 3R 3BR & YA faRILUR g, 394 difdhd
=¥ Y IS G gl 81 9hdl ©, 39D! 3 § fb 3 0l # O il & drared gl Tdhal
S| TGIUR, “qH° 1 SAYRUN & H1e0H ¥ 3RIW a%] 3R 3b TN &l I B SAYRT &
HregH U SRW 3R WHI[ddH EU Y I [d¥g IR R 3R Ul UeR a9y 3R 39d
T 1 9 UR AR 3FHd §HI Il |

(311& B, SRIgAHTSH)

Sub questions

Question Number : 141 Question Id : 9380662408 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
G 3R GH* DI {IYRUMY

L. GHFEIEEHI G|

2. UDIHD <P U faRIgyrEl g1
3. 37H B3 dlichd diaied gl g
4. U I H, 3 €1 g

Options :

9380669361. 1
9380669362. 2
9380669363. 3
9380669364. 4

Question Number : 142 Question Id : 9380662409 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

L. °dd 3R g
2. Lm- \iﬂ? ..gm:ﬁg:
3. <3{TAT 3R <3ATHED
4. ¢l ddq dd

Options :

9380669365. 1

9380669366. 2

9380669367. 3

9380669368. 4

Question Number : 143 Question Id : 9380662410 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



I BT a9 R 3R {7 o7 ‘TF W AR

1. difdeb =f® U dud g fb=d gdigcsd P I srud gl
2. AT P I 3R JaHed P Y YT g

3. difdbp 2P I 3RIYd g fob Tl <fd I Yyd g
4. ey <P T, 3R Garad <P ¥ 3EUd g

Options :

9380669369. 1
9380669370. 2
9380669371. 3
9380669372. 4

Question Number : 144 Question Id : 9380662411 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HARIYU BT 3 G -

1. U axd I [l 310 & U H S/l

2. G BT (01 &G H Y BT

3. Uh 9% DI 313 Y 3R 3ck: 3A b Y H ¢l
4.Ud a D1 9 a1 9 3R 7 39 & Y H YH BAl

Options :

9380669373. 1
9380669374. 2
9380669375. 3
9380669376. 4

Question Number : 145 Question Id : 9380662412 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

- SEARIYUL fawa 3R 9 GIH1 d fh¥ =0 7 Ugd BT 8 2

. dd & EUH

2. & &4 H

3. U Heddl & =0 H

4. Pad [dYg Dl ¥ IR dd U o

Options :

9380669377. 1

9380669378. 2

9380669379. 3

9380669380. 4

Sub-Section Number : 3
Sub-Section Id : 938066102
Question Shuffling Allowed : No




Question Id : 9380662413 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Read the following passage carefully and answer the following questions based on the passage:
Socrates:  Let us consider the matter in this way: If a person knows the way to Larissa, or
anywhere else, and goes there, shall we call him a right and good guide?

Meno: Certainly.

Socrates: And a person who has a right opinion as to the way, but has never been there, may he
not also be a good guide?

Meno: Certainly.

Socrates:  Then true opinion is as good guide to correct action as knowledge. And the man who
has true opinion will be just as good a guide as the man who has knowledge.

Meno: That appears to be true

Socrates:  The right opinion is not less useful than knowledge.

Meno: That is correct.

Socrates:  But true opinion so long as they stay, are fine thing and do all sorts of good. But, they
are not willing to remain long. They escape from a man’s mind, so they are not of much value
until one ties them down by giving an account of reason. This act of tying them down is called
“recollection” and when bound, they become knowledge.

Meno: I understand.

Socrates:  Therefore, we must say that knowledge differ from true opinion, not in usefulness but
1n stability.

Meno: That seems to be well put, Socrates.

Socrates: Then the person who has knowledge is more stable and reliable than one with mere
opinion, even if both may guide correctly.

Sub questions

Question Number : 146 Question Id : 9380662414 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What does the journey to Larissa signify?

1. The search for wealth
2. The pursuit of wisdom
3. The nature of the guidance
4. The meaning of virtue
Options :
9380669381. 1
9380669382. 2
9380669383. 3
9380669384. 4

Question Number : 147 Question Id : 9380662415 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What does Socrates say about true opinion and knowledge?

1. Knowledge is always better.
2. True opinion can guide as well as knowledge.
3. True opinion is never helpful.
4. Opinion should be avoided.
Options :
9380669385. 1
9380669386. 2
9380669387. 3
9380669388. 4

Question Number : 148 Question Id : 9380662416 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Why is true opinion considered less valuable than knowledge?

1. It fades or escapes the mind.
2. It 1s difficult to find.
3. It is based on false ideas.
4. It comes from bad teachers.
Options :
9380669389. 1
9380669390. 2
9380669391. 3
9380669392. 4

Question Number : 149 Question Id : 9380662417 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What process turns true opinion into knowledge, according to Socrates?

1. Teaching by experts
2. Debate and argument
3. Memorizing doctrines
4. Tying it down with reason or account
Options :
9380669393. 1
9380669394. 2
9380669395. 3
9380669396. 4

Question Number : 150 Question Id : 9380662418 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the main difference between knowledge and true opinion?

1. Usefulness

2. Stability

3. Popularity

4. Source of Origin



Options :

9380669397. 1
9380669398. 2
9380669399. 3
9380669400. 4



Question Id : 9380662413 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
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Sub questions

Question Number : 146 Question Id : 9380662414 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT &1 g fad] Udie © 2

1. 45 DI @Il

2. M U & fof uamg
3. ArfazH & uwdfd

4. U BT 3

Options :

9380669381. 1
9380669382. 2
9380669383. 3
9380669384. 4

Question Number : 147 Question Id : 9380662415 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



el ST 3R I D IR T HRId BT R el g 2

1. 9 Ucd SgR aidl o |

2. a1 T 3R I &I g1 AR SR Jdhd g
3. gl 3AMHd HH Ugi® gl gidl g |

4. AT Y S91 dIigU|

Options :

9380669385. 1
9380669386. 2
9380669387. 3
9380669388. 4

Question Number : 148 Question Id : 9380662416 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el T & A B o1 H S YeddH &l AHT S8 2

1. U8 HHSIR US SI1dl g 41 94 4 Hdd Sl g |
2. 3G Ul HT HidH ol
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Options :

9380669389. 1
9380669390. 2
9380669391. 3
9380669392. 4

Question Number : 149 Question Id : 9380662417 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AN & 3R DI U1 Uicha1 el 3 &1 9 H 96 adl g ?

1. fa2sil gRT fRrgor

2. 989 3R dob-fddd

3. Fgidl &l a1 &3l

4.39 db g1 Il gRT R G4

Options :

9380669393. 1
9380669394. 2
9380669395. 3
9380669396. 4

Question Number : 150 Question Id : 9380662418 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A 3R T T & S 1 W 3R g 2

1. UIIATAl

2. WA

3. BTl

4. AT BT HId

Options :

9380669397. 1
9380669398. 2
9380669399. 3
9380669400. 4



